
CHEMISTRY

BOOKS - NIKITA CHEMISTRY (HINGLISH)

D-AND F-BLOCK ELEMENTS

MULTIPLE CHOICE QUESTIONS

1. Which of the following has mximum number of unpaired

electrons ?

A. 

B. 

Fe3 +

Fe2 +

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hlXik5q6DzRF


C. 

D. 

Answer: A

Watch Video Solution

Co2 +

Co2 +

2. The number of incomplete shells in transition elements

are

A. 0

B. 1

C. 2

D. 3

https://dl.doubtnut.com/l/_hlXik5q6DzRF
https://dl.doubtnut.com/l/_OTJr9OpOhhyT


Answer: C

Watch Video Solution

3. The number of transition series in the periodic table are

A. 4

B. 3

C. 5

D. 2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OTJr9OpOhhyT
https://dl.doubtnut.com/l/_rW6Mhj7wKJlS
https://dl.doubtnut.com/l/_wB9beLikea1L


4. The first elements of first, second and third transition

series respectively are

A. Zn, Cd, Hg

B. Sc, Y, La

C. Cu, Ag, Au

D. Sc, Y, La

Answer: B

Watch Video Solution

5. The lightest transition element is

A. Hg

https://dl.doubtnut.com/l/_wB9beLikea1L
https://dl.doubtnut.com/l/_nYH0Le8MpssE


B. Sc, Y, La

C. Fe

D. Ti

Answer: B

Watch Video Solution

6. Which of the following has maximum I.E ?

A. Zn

B. Mn

C. Co

D. Ni

https://dl.doubtnut.com/l/_nYH0Le8MpssE
https://dl.doubtnut.com/l/_ePxzqXNEOB4D


Answer: A

Watch Video Solution

7. The electronic configuration of  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

.46 Pd

4s23d8

4s13d9

5s04d10

5s24d8

https://dl.doubtnut.com/l/_ePxzqXNEOB4D
https://dl.doubtnut.com/l/_7eQlnj2WSqJM
https://dl.doubtnut.com/l/_1uLSoaNnnuRn


8. First I.E. 5d elements are higher than those of 3d and 4d

elements. This is due to 

1) greater effective nuclear charge action on outer valence

electrons. 

2) greater effective nuclear charge is experience because

of weak shielding effect of 4-f orbitals

A. only 1

B. only 2

C. 1 and 2

D. none is correct

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1uLSoaNnnuRn
https://dl.doubtnut.com/l/_fdXr7GHWaV5f


9. Pick out the incorrect statement for transition metals,

A. They from alloys

B. transition metals do not exhibit variable oxidation

states

C. transition metal ions are colloured

D. transition metals and majority of their compounds

are paramagnetic.

Answer: B

Watch Video Solution

10. Select incorrect statement (s)

https://dl.doubtnut.com/l/_fdXr7GHWaV5f
https://dl.doubtnut.com/l/_XJu2ppFzCcHj


A.  compounds tends to be thermodynamically

more stable thean 

B.  compounds are relatively more stable than 

 compounds

C.  exist

D.  exist

Answer: D

View Text Solution

NI 2 +

Pt2 +

PT 4 +

Ni4 +

K2PtCl6

K2NiCl6

11. Pick out the incorrect statement for transition metals

https://dl.doubtnut.com/l/_XJu2ppFzCcHj
https://dl.doubtnut.com/l/_RJB7N5Ya44jT


A. they have low melting and boiling points (or low

enthalpies of atomization)

B. 5d-elements have higher energies than 3d or 4d-

elements

C. Zr and Hf have almost identical atomic and ionic

radii

D. thtey form interstitial compounds.

Answer: A

Watch Video Solution

12. Magnetic moments  is given by : 


(At. nos. ni = 28, Ti = 22, Cr = 24, Co = 27).

2.84B. M

https://dl.doubtnut.com/l/_RJB7N5Ya44jT
https://dl.doubtnut.com/l/_gC7mjmyMXHLf


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ni2 +

Ti3 +

Cr2 +

Co2 +

13. Which one of the following statements is not true?

A. Transition metals form alloys

B. Transition metals from complexes

C. Zn, Cd and Hg are transition metals

https://dl.doubtnut.com/l/_gC7mjmyMXHLf
https://dl.doubtnut.com/l/_JF6uOsIFLeYV


D.  is a well known compound, but

corresponding nickel compound is not known

Answer: C

Watch Video Solution

K2[PtCl6]

14. Non-stoichiometry is shown 

1) due to variable valency of transition metals 

2) due to defect in solid structure 

3) reducing nature 

Correct statemet (s) is /are

A. 1,2

B. 1,3

https://dl.doubtnut.com/l/_JF6uOsIFLeYV
https://dl.doubtnut.com/l/_heLYpfZ5vvTr


C. 2,3

D. 1,2,3

Answer: A

View Text Solution

15. Number of unpaired electrons increases in 3d series up

to

A. Sc to Co

B. Sc to Mn

C. Sc to Ni

D. Sc to Cu

https://dl.doubtnut.com/l/_heLYpfZ5vvTr
https://dl.doubtnut.com/l/_TUmEGZ0lv15n


Answer: B

Watch Video Solution

16. The first ionisation energies of the elements of the first

transition series 

A. increases as the atomic number increases

B. decreases as the atomic number increases

C. do not show any change as the addition of electrons

takes place in the inner (n-1) d-orbitals

D. increases from Ti to Mn and then decreases from Mn

to Cu..

(Ti → Cu)

https://dl.doubtnut.com/l/_TUmEGZ0lv15n
https://dl.doubtnut.com/l/_yGEFSPgoBJ1g


Answer: A

Watch Video Solution

17. Which one of the following ions has the highest

megnetic moment ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mn2 +

Ti4 +

Mn7 +

V 5 +

https://dl.doubtnut.com/l/_yGEFSPgoBJ1g
https://dl.doubtnut.com/l/_oNLAZaumpOoh


18. Equivalent weight of  when it is convert into 

 is

A. M/5

B. M/6

C. M/3

D. M/2

Answer: A

Watch Video Solution

KMnO4

MnSO4

19. Wh ich of the following is weak reducing agent ?

A. Nickel

https://dl.doubtnut.com/l/_it1ubSpxfEES
https://dl.doubtnut.com/l/_u9m5Qd0tz4b1


B. Scandium

C. Copper

D. Titanium

Answer: C

Watch Video Solution

20. Which of the following has highest ionic radii

A. 

B. 

C. 

D. 

Cr3 +

Mn3 +

Fe3 +

Co3 +

https://dl.doubtnut.com/l/_u9m5Qd0tz4b1
https://dl.doubtnut.com/l/_RIekAi01ndO1


Answer: A

Watch Video Solution

21. Which of the following set has all the coloured ions ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu+ , Cu2 + , Ni2 +

Cu2 + , Ca2 + , Sc2 +

Cu2 + , Fe2 + , Co2 +

Na+ , Mg2 + , Al3 +

https://dl.doubtnut.com/l/_RIekAi01ndO1
https://dl.doubtnut.com/l/_xxPw0QyeNOFZ
https://dl.doubtnut.com/l/_trXotTYHSeYL


22. Which of the following statements is not true in regard

to transition elements

A. They readily form complex compounds

B. They show variable valency

C. All their ions are colourless

D. Their ions contain partially filled d-electron levels

Answer: C

Watch Video Solution

23. Transition elemtns are coloured

A. Due to small size

https://dl.doubtnut.com/l/_trXotTYHSeYL
https://dl.doubtnut.com/l/_MWaPSIwbph9W


B. Due to metallic nature

C. Due to unpaired d-electrons

D. All of these

Answer: C

Watch Video Solution

24. Which of the following alloys contain (s) Cu and Zn?

A. Bronze

B. Steel

C. Alnico

D. Brass

https://dl.doubtnut.com/l/_MWaPSIwbph9W
https://dl.doubtnut.com/l/_Iz1iO691LeP5


Answer: D

Watch Video Solution

25. Transition metals are often paramagnetic due to

A. Their high m.p. and b.p.

B. The presence of vacant orbitals

C. The presence of one or more upaired electrons in

the system

D. Their being less electropoitive than the elements of

groups I-A and II-A

Answer: C

https://dl.doubtnut.com/l/_Iz1iO691LeP5
https://dl.doubtnut.com/l/_cBRWiT8GfhuZ


Watch Video Solution

26. Which of the following elements forms stable di-

nuclear ions?

A. Zn

B. Cd

C. Hg

D. Fe

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cBRWiT8GfhuZ
https://dl.doubtnut.com/l/_1M0nsF8Zu0u0


27. Lower oxidation state in transition metals are

stabilized by

A. CO

B. O

C. I

D. Br

Answer: A

View Text Solution

28. B.M is equal to

A. 
eh

2πmc

https://dl.doubtnut.com/l/_TmslgQACQ4W7
https://dl.doubtnut.com/l/_DeNeNmXov3ND


B. 

C. 

D. 

Answer: B

View Text Solution

eh

4πmc

eV

4πmc

eV

2πmc

29. Spin only of  is

A. 7 B. M

B. 6 B.M

C. 1.5 B.M

D. 5.9 B.M

Mn2 +

https://dl.doubtnut.com/l/_DeNeNmXov3ND
https://dl.doubtnut.com/l/_NX5zhD6LmioP


Answer: D

Watch Video Solution

30. Which of the following is highest paramagnetic

A. Mn

B. Zn

C. Cu

D. Co

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NX5zhD6LmioP
https://dl.doubtnut.com/l/_BDfoJjEHAXZW
https://dl.doubtnut.com/l/_V8gG42x0qLMz


31. Colour of  is due to

A. d-d transition

B. charge transfer

C. f-f transition

D. geometry of 

Answer: B

View Text Solution

Cu2O

Cu2O

32. An increase in both atomic and ionic radii with atomic

number occurs in any group of the perioidc table and in

accordance with this, the ionic radii of Ti (IV) and Zr (IV)

ionc are 0.68  respectively, but for Hf (IV)A ∘ and 0.74A ∘

https://dl.doubtnut.com/l/_V8gG42x0qLMz
https://dl.doubtnut.com/l/_9BGTvfmBLhGN


ion the ionic radius of  which is almost the same

as that for Zr (IV) ion. This is due to

A. greater degree of covalency in compounds of 

B. alntanide contraction

C. difference in the coordination number of

 in their compounds

D. actinide contraction.

Answer: B

View Text Solution

0.75A ∘ ,

Hf 4 +

Zr4 + and Hf 4 +

33. Amongest the following, the lowest degree of

paramagnetism per mole of the compound at 298 K will be

https://dl.doubtnut.com/l/_9BGTvfmBLhGN
https://dl.doubtnut.com/l/_3GVAczudY6CN


show by.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MnSO4

CuSO4

FeSO4

NiSO4

34. Alloy forming tendency of transition element is due to

A. large difference in atomic size

B. small difference in atomic size

https://dl.doubtnut.com/l/_3GVAczudY6CN
https://dl.doubtnut.com/l/_sWuKnUTLVLy7


C. more number of oxidation state

D. defect in their crystal lattice

Answer: B

Watch Video Solution

35. Elements which generally exhibit multiple oxidation

states and whose ions are usually coloured are

A. Metalloids

B. Transition elements

C. Non-metals

D. Gases

https://dl.doubtnut.com/l/_sWuKnUTLVLy7
https://dl.doubtnut.com/l/_YfSBuNHayDx7


Answer: B

Watch Video Solution

36. Which is wrong about transition metals?

A. They form complexes

B. They show variable valency

C. All transition metla compounds are paramagnetic

D. They from coloured ions

Watch Video Solution

https://dl.doubtnut.com/l/_YfSBuNHayDx7
https://dl.doubtnut.com/l/_OTXaSPidQ9jV


37. Which of the following elements does not belong to

the first transition series?

A. Fe

B. V

C. Ag

D. Cu

Watch Video Solution

38. Transition elements, in general, exhibit the following

properties, except one. Name that property

https://dl.doubtnut.com/l/_Ye3pvS4YylAF
https://dl.doubtnut.com/l/_uWlVk31TzumH


A. variable oxidation property

B. naturela radioactivity

C. tendency to form complexes

D. formation of alloys

Answer: B

Watch Video Solution

39. Which of the following ions is coloured in solution ?

A. 

B. 

C. 

Zn2 +

Ti4 +

Cu+

https://dl.doubtnut.com/l/_uWlVk31TzumH
https://dl.doubtnut.com/l/_DZhqGRMKeRoL


D. 

Answer: D

Watch Video Solution

V 2 +

40. The maximum magnetic moment is shown by the ion

with electronic configuration

A. 

B. 

C. 

D. 

Answer: B

3d8

3d5

3d7

3d9

https://dl.doubtnut.com/l/_DZhqGRMKeRoL
https://dl.doubtnut.com/l/_yHMZdaSNjnjx


Watch Video Solution

41. The highest oxidation state is shown by transition

element s with electronic configuration

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3d84s2

3d54s1

3d54s2

3d34s2

https://dl.doubtnut.com/l/_yHMZdaSNjnjx
https://dl.doubtnut.com/l/_2ebBT3QBlhMm


42. Which radical can bring about the highest oxidation

state of a transition metal ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F −

Cl−

Br−

I −

43. Ziegler-Natta catalyst is:

A. Pt/PtO

https://dl.doubtnut.com/l/_sw5G3Ttcl2nc
https://dl.doubtnut.com/l/_7XeQOYgMu0Aw


B. 

C. 

D. Pt

Answer: B

Watch Video Solution

TiCl4 /Al(C2H5)3

Pt/Rh

44. Zeigler-Natta catalyst is used

A. in the polymerization of ethene to produce

polyethene

B. for oxidizing alcohols to aldehydes

C. in the polymerization of alkyne to give benzene

https://dl.doubtnut.com/l/_7XeQOYgMu0Aw
https://dl.doubtnut.com/l/_zjfpFGKW1Hxz


D. in the Ostwald process for converting  into NO

Answer: A

Watch Video Solution

NH3

45. Resemblance between Nb and Ta is because they

A. belong to same group of perioidc table

B. have the same mineral source

C. have almost same ionic and covalent radii

D. are transition metals

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_zjfpFGKW1Hxz
https://dl.doubtnut.com/l/_UjdcWBDA2C0w


46. The most stable oxidation state of chromium is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+6

+4

+3

+2

47. Which of the following states is strong reducing

agent?

https://dl.doubtnut.com/l/_UjdcWBDA2C0w
https://dl.doubtnut.com/l/_gE7fLSsNA4vn
https://dl.doubtnut.com/l/_crDjw2c4xymt


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr( + III)

Cr( + V I)

Mo( + V i)

MO( + III)

48. The most stable oxidation state for Mo and W are

respectively

A. 

B. 

+6, + 6

+6, + 5

https://dl.doubtnut.com/l/_crDjw2c4xymt
https://dl.doubtnut.com/l/_YnNTWoFpyE8S


C. 

D. 

Answer: A

Watch Video Solution

+3, + 3

+3, + 6

49. Manganese show oxidation state from  to . The

most oxidizing state known in aqueous solution is

A. 

B. 

C. 

D. 

+2 +7

+2

+3

+4

+7

https://dl.doubtnut.com/l/_YnNTWoFpyE8S
https://dl.doubtnut.com/l/_9RMVBYvsUH7w


Answer: D

Watch Video Solution

50.  is isoelectronic with

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ag+

Cu2 +

Zn2 +

Cd2 +

Pd2 +

https://dl.doubtnut.com/l/_9RMVBYvsUH7w
https://dl.doubtnut.com/l/_jy5Vrlqdh4u6
https://dl.doubtnut.com/l/_mB93vVPUWrSU


51. The  having  congiguration,  having 

configuration. The  is ,

A. is more stable

B. is less stable

C. is equally stable

D. stability depends upon the nature of copper salt

Answer: B

Watch Video Solution

Cu2 3d9 Cu+ 3d10

Cu2 +

52.  is used as catalyst in

A. the conversion of  to linear silicones

CuCl2

(CH3)2SiCl2

https://dl.doubtnut.com/l/_mB93vVPUWrSU
https://dl.doubtnut.com/l/_eMeKjnnQ3qtu


B. making  fom HCl in Deacon's process

C. the oxidation of the following metals does not

dissolve in aqua-regia ?

D. in oxidation of alcohols

Answer: B

View Text Solution

Cl2

53. Maximum atomization enthalpy is found in

A. Mn

B. Fe

C. Zn

https://dl.doubtnut.com/l/_eMeKjnnQ3qtu
https://dl.doubtnut.com/l/_v4mlSWL9oVZb


D. V

Answer: D

Watch Video Solution

54. For which element of first transition series th oxisation

potential value  is lowest

A. Mn

B. Fe

C. Ni

D. Cu

Answer: D

(M → M 2 + + 2e− )

https://dl.doubtnut.com/l/_v4mlSWL9oVZb
https://dl.doubtnut.com/l/_aT11ojMbMNDR


Watch Video Solution

55. The aqueous solutions of the following salts will be

coloured in case of

A. 

B. 

C. 

D. both 

Answer: D

View Text Solution

Zn(NO3)2

Co(NO3)2

CrCl3

Co(NO3)2 and CrCl3

https://dl.doubtnut.com/l/_aT11ojMbMNDR
https://dl.doubtnut.com/l/_6MVEPiBF5Ayb


56. Soft d-block elements occurs as

A. silphide ore

B. oxide ore

C. nitride ore

D. hydroxide ore

Answer: A

View Text Solution

57. Mercury is the only metal which is liquid at . This is

due to its

A. very high ionization energy and weak metallic bond

0∘C

https://dl.doubtnut.com/l/_s0UG8ukPapow
https://dl.doubtnut.com/l/_tPbEPrWkKkro


B. low ionization potential

C. high atomic mass

D. high vapour pressure

Answer: A

Watch Video Solution

58. Which of the following compounds is not coloured ?

A. AgBr

B. AgI

C. 

D. 

Cu2O

ZnCl2

https://dl.doubtnut.com/l/_tPbEPrWkKkro
https://dl.doubtnut.com/l/_ZmZq5SDZTpqp


Answer: D

View Text Solution

59. Which metal has highest density ?

A. Pt

B. Hg

C. Os

D. Ir

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_ZmZq5SDZTpqp
https://dl.doubtnut.com/l/_3kmFi38IgfYV
https://dl.doubtnut.com/l/_Hf5WEkBoECnq


60. The number of unpaired electrons in ferrous ion is

A. 5

B. 4

C. 3

D. 2

Answer: B

Watch Video Solution

61. The element with lowest melting and boiling point is

A. Ti

B. Cu

https://dl.doubtnut.com/l/_Hf5WEkBoECnq
https://dl.doubtnut.com/l/_tMKIAAtUwHGB


C. Zn

D. V

Answer: C

View Text Solution

62. Fe, Co nad Ni have valuable catalytic properties in

process involbing

A. Inorganic compound

B. Oxidation

C. Hydrogenation

D. Compounmds of hydrogen

https://dl.doubtnut.com/l/_tMKIAAtUwHGB
https://dl.doubtnut.com/l/_hpAxAbJlIZcl


Answer: C

Watch Video Solution

63. Oxidation state of in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Fe3O4

+3

+8

+8/3

+3/8

https://dl.doubtnut.com/l/_hpAxAbJlIZcl
https://dl.doubtnut.com/l/_3hwLhRCYNY8R
https://dl.doubtnut.com/l/_LvLT7Vn3jBV1


64. Which of the following compounds is not coloured ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CuCl

CuBr

CuSO4

CuI

65. Which of the following statement is not correct about

transition metals

A. They have low M.P

https://dl.doubtnut.com/l/_LvLT7Vn3jBV1
https://dl.doubtnut.com/l/_edK34oSBPxIG


B. They shows variable O.S

C. They tend to adopt closely packed structures

D. They have high lattice energy

Answer: A

Watch Video Solution

66. The valence shell electronic configuration of  ion

is

A. 

B. 

C. 

Cr2 +

4s03d4

4s23d2

4s23d0

https://dl.doubtnut.com/l/_edK34oSBPxIG
https://dl.doubtnut.com/l/_UkFWtqUkkjfG


D. 

Answer: A

Watch Video Solution

3p64s2

67. In the first transition series, the highest b.p. and m.p. is

of

A. Cr

B. V

C. Ni

D. Fe

Watch Video Solution

https://dl.doubtnut.com/l/_UkFWtqUkkjfG
https://dl.doubtnut.com/l/_BR121DxGNDF2


68. Which of the following is for oxidatin of  to  in

contact process ?

A. 

B. 

C. 

D. Fe and Mo

Answer: A::C

View Text Solution

SO2 SO3

MnO2

CuCl2

V2O5

https://dl.doubtnut.com/l/_BR121DxGNDF2
https://dl.doubtnut.com/l/_KWHjFvb81qO8


69. Amongst  

(At. No. )

A.  is colourless,  are coloured

B. all are coloured

C. all are colourless

D. only  is coloured,  are

colourless

Answer: A

Watch Video Solution

Cu+ 1, Fe+ 2 and Cr+ 3

Cu = 29, Fe = 26, Cr = 24

Cu+ 1 Fe+ 2 and Cr+ 3

Cr+ 3 Cu+ 1 and Fe+ 2

https://dl.doubtnut.com/l/_117mM5gAXm3i


70. In the following transition elements, the lowest m.p.

and b.p.

A. Hg

B. Cr

C. Cu

D. Fe

Answer: A

Watch Video Solution

71. Manganese belongs to

A.  transition series1st

https://dl.doubtnut.com/l/_ZfKN2hUwHjpw
https://dl.doubtnut.com/l/_YsPihuxZuSER


B.  transition series

C.  transition series

D.  transition series

Answer: A

Watch Video Solution

2nd

3rd

4th

72. Colour of the  is due to

A. d-d transition

B. p-p transition

C. charge transfer

D. f-f transition

Cu2O

https://dl.doubtnut.com/l/_YsPihuxZuSER
https://dl.doubtnut.com/l/_vUDacMLNpAJG


Answer: C

View Text Solution

73. Which of the following ion is coloured ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Sc3 +

Zn3 +

Cu1 +

Cr3 +

https://dl.doubtnut.com/l/_vUDacMLNpAJG
https://dl.doubtnut.com/l/_cLFrGDcOzMkP
https://dl.doubtnut.com/l/_jTFHiZg1AvTi


74. The transition metals have last electron entering into

(n-1) d-orbital, where d-orbital are degenerate. Colour of

transition metal ions is due to absorption of light of some

wavelength. This result in transition of electron which is

A. d-s transition

B. d-d transition

C. d-p transition

D. both 'a' and 'b'

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_jTFHiZg1AvTi


75. Transition elements have greater tendency to form

complexes because

A. they contain partially filed d-orbitals

B. nuclear charge to atomic size ratio is quite high

C. both 'a' and 'b'

D. they ar metals and all metals form complexes

Answer: C

Watch Video Solution

76. The electron which take part in order to exhibit variable

oxidation states by transition metals are

https://dl.doubtnut.com/l/_A1hZkVUUkHZd
https://dl.doubtnut.com/l/_3mSLxAyitR8F


A. ns electrons

B. (n-1) d-electrons

C. ns and (n-1) d-electrons

D. (n+1) d-electrons

Answer: C

Watch Video Solution

77. Variable oxidation state is shown by

A. normal elements

B. metallic elements

C. nonmetallic elements

https://dl.doubtnut.com/l/_3mSLxAyitR8F
https://dl.doubtnut.com/l/_M8gbKr5lA99G


D. transition elements.

Answer: D

Watch Video Solution

78. Which of the following is wrong about interstitial

compounds ?

A. their M.P. is higher than parent metals

B. their density is higher than parent metals

C. their hydrides are powerful reducing agent than

parent metals.

D. these are neither ionic nor covalent

https://dl.doubtnut.com/l/_M8gbKr5lA99G
https://dl.doubtnut.com/l/_lB9CzsUTSbT7


Answer: B

View Text Solution

79. The number of d-electrons retained in  (At. No.

Fe=26)` ions are:

A. 3

B. 2

C. 4

D. 5

Answer: C

Watch Video Solution

Fe2 +

https://dl.doubtnut.com/l/_lB9CzsUTSbT7
https://dl.doubtnut.com/l/_SjNysPMRugLn


80. The colour of transition metal ion is attributed to:

A. small-size of metla ions

B. absorption of light in UV region

C. complete ns sub-shell

D. incomplete (n-1) d orbital

Answer: D

Watch Video Solution

81. Which one of the following ions is colourless ?

A. Cu+

https://dl.doubtnut.com/l/_9trmbnCq2Mwo
https://dl.doubtnut.com/l/_WrxwsqPfFT5H


B. 

C. 

D. 

Answer: A

Watch Video Solution

Co2 +

Ni2 +

Fe3 +

82. Which of the following transition metal ion will have

magnetic moment ?

A. 

B. 

C. 

Sc3 +

Ti3 +

Cu+

https://dl.doubtnut.com/l/_WrxwsqPfFT5H
https://dl.doubtnut.com/l/_u5eUexKLy7VJ


D. 

Answer: B

Watch Video Solution

Zn2 +

83. If n is the number of unpaired electrons, the magnetic

moment (in BM) of transition metal/ion is given by

A. 

B. 

C. 

D. 

Answer: A

√n(n + 2)

√2n(n + 1)

√n(n − 2)

√n2(n − 1)

https://dl.doubtnut.com/l/_u5eUexKLy7VJ
https://dl.doubtnut.com/l/_YiGmksyEXjwK


Watch Video Solution

84. Which is the set of non stoichiometric compounds

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

NaCl, FeO, MgCl2

Fe3, O4, NaCl, CuS

Fe3H, TiC, VH

CuCL, CuS, MgO

85. Which of the following has highest ionisation energy ?

https://dl.doubtnut.com/l/_YiGmksyEXjwK
https://dl.doubtnut.com/l/_Iz33YXEzxJ5Q
https://dl.doubtnut.com/l/_zUBApIxhKoHO


A. Cr

B. Zn

C. V

D. Fe

Answer: B

Watch Video Solution

86. A transition element  has a configuration  in

its  oxidation state. Its atomic number is

A. 25

B. 26

X [Ar]3d4

+3

https://dl.doubtnut.com/l/_zUBApIxhKoHO
https://dl.doubtnut.com/l/_maiFtfvzitkX


C. 22

D. 19

Answer: A

Watch Video Solution

87. 

A. is isoelectronic with 

B. is isoelectronic with 

C. is isoelectronic with 

D. is isoelectronic with 

Answer: C

Fe+ 3

Cu2

Co2 +

Mn2 +

Ni2 +

https://dl.doubtnut.com/l/_maiFtfvzitkX
https://dl.doubtnut.com/l/_GXEwTpFes1Hh


Watch Video Solution

88. Which of the following is not correct about transition

metals

A. Their melting and boiling points are high

B. Their compounds are generally colured

C. They can form ionic or covalent compounds

D. They do not exhibit variable valency

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GXEwTpFes1Hh
https://dl.doubtnut.com/l/_DShKApzz4z1H


89. Ground state electronic configuration of Cr atom is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Ar], 3d54s1

[Kr], 4d105s2

[Ar], 3d64s0

[Ne], 3s23p5

90. The aqueous solution of the following salts will be

coloured in the case of

A. Zn(NO3)2

https://dl.doubtnut.com/l/_qyh9RHphnJJu
https://dl.doubtnut.com/l/_Lg552PktWsAO


B. 

C. 

D. both b and c

Answer: D

Watch Video Solution

Co(NO3)2

Cu(NO3)2

91. The no. of unpaired electrons in  ions (At. No of

Mn =25) is

A. 0

B. 1

C. 2

Mn7 +

https://dl.doubtnut.com/l/_Lg552PktWsAO
https://dl.doubtnut.com/l/_a2WRG46951NF


D. 3

Answer: A

Watch Video Solution

92. The first and last element of the second transition

series respectively are

A. Y, Cd

B. La, Hg

C. Cd, Y

D. none of the above

Answer: A

https://dl.doubtnut.com/l/_a2WRG46951NF
https://dl.doubtnut.com/l/_8QxA6NQ4QsDz


Watch Video Solution

93. The highest oxidation state of  is shown by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mn

Kmno4

K2MnO4

MnO2

Mn2O4

https://dl.doubtnut.com/l/_8QxA6NQ4QsDz
https://dl.doubtnut.com/l/_BF31eToJy28o


94. Number of unpaired electrons present in

A. zero

B. 2

C. 4

D. 8

Answer: B

Watch Video Solution

[Ni(H2O)6]
2 +

95. Zinc does not show variable valency Because of:

A. complete d subshell

https://dl.doubtnut.com/l/_DgWkDaEfL9VN
https://dl.doubtnut.com/l/_irK6JN88rNJq


B. iocomplete d subshell

C.  sub shell

D. non of the above

Answer: A

Watch Video Solution

4s2

96. Common oxidation state of Scandium, a transition

element is /are (At. No =21)

A. 

B. 

C. 

+4

+1

+2 and + 3

https://dl.doubtnut.com/l/_irK6JN88rNJq
https://dl.doubtnut.com/l/_Auie1bRSZwiY


D. 

Answer: C

Watch Video Solution

+4 and + 1

97. Oxidation number of osmium  in  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(Os) OsO4

+4

+6

+7

+8

https://dl.doubtnut.com/l/_Auie1bRSZwiY
https://dl.doubtnut.com/l/_5r68J6NY6Lij


98. The purple colour of  ion is due to

A. unpaired d-electron

B. transfer of an electron

C. presence of water molecules

D. all of them

Answer: A

Watch Video Solution

[Ti(H2O)6]
+ 3

99. From  to  oxidation state is shon by the element

of …… group

+6 +1

https://dl.doubtnut.com/l/_5r68J6NY6Lij
https://dl.doubtnut.com/l/_BgH1VKmJI9LD
https://dl.doubtnut.com/l/_Pe6lRPT5MezT


A. V-B

B. VI-B

C. VII-B

D. VIII

Answer: B

View Text Solution

100.  and  do not show variable valency like 

block elements because-

A. They are soft

B. Their d-shells are complete

Zn Hg d −

https://dl.doubtnut.com/l/_Pe6lRPT5MezT
https://dl.doubtnut.com/l/_yLIajIm387Hj


C. They have only two electrons in the outemost

subshell

D. Their d-shell are incomplete

Answer: B

Watch Video Solution

101. The number of unpaired electrons in cobalt atoms is

(atomic number of Co= 27)

A. 2

B. 3

C. 4

https://dl.doubtnut.com/l/_yLIajIm387Hj
https://dl.doubtnut.com/l/_WCkRBLaOdKTK


D. 1

Answer: B

Watch Video Solution

102. Cuprous ion is colourless, while cupric ion is colured

because

A. both have half filled p and d-orbitals

B. coprous ion has incomplete d-orbital and cupric ion

has complete d-orbitals

C. both have unpaired electrons in d-orbitals

https://dl.doubtnut.com/l/_WCkRBLaOdKTK
https://dl.doubtnut.com/l/_QYYAFHxzsApD


D. cuprous ion has a complete d-orbital and cupric ion

has an incomplete d-orbitals

Answer: D

Watch Video Solution

103. The valence shell of transition element consists of

A. nd-orbitals

B.  d-orbitals

C. ns nd-orbitals

D.  d ns-orbitals

Answer: D

(n − 1)

(n − 1)

https://dl.doubtnut.com/l/_QYYAFHxzsApD
https://dl.doubtnut.com/l/_NWgWx0e5jahs


Watch Video Solution

104. Transition metal usually exhibit highest oxidation

states in their

A. chlorides

B. hydrides

C. fluorides

D. iodides

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NWgWx0e5jahs
https://dl.doubtnut.com/l/_E0uQZLc90cQR


105. The catalytic activity of the transition metals and their

compound is ascribed to:

A. their chemical reactivity

B. their unfilled d-orbitals

C. their ability to adopt multiple oxidation states in

their complex ion

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_JBW3PSI1qe5m


106. In the ground state, an element has 13 electrons in its

'M' shell. The element is

A. Cu

B. Mn

C. Ni

D. Fe

Answer: B

Watch Video Solution

107. In the ground state configuration of Co, how many

electrons are present in 'M' shell ?

https://dl.doubtnut.com/l/_SRzyA2aFCs9I
https://dl.doubtnut.com/l/_5ucN758mwFcm


A. 13

B. 2

C. 15

D. 3

Answer: C

Watch Video Solution

108. If the colours of salts of transition elements are due

to the presence of unpaired electrons in the transition

metal ions, which of the following ions will be colourless in

aqueous solution

A. Ti3 +

https://dl.doubtnut.com/l/_5ucN758mwFcm
https://dl.doubtnut.com/l/_0HHK34glIhVY


B. 

C. 

D. 

Answer: B

Watch Video Solution

Ti4 +

Fr2 +

Fr3 +

109. The transition elements are so named because

A. they shows reducing property

B. their properties are similar to other elements

C. their properties are different from other elements

D. they have party filled d-orbitals

https://dl.doubtnut.com/l/_0HHK34glIhVY
https://dl.doubtnut.com/l/_6IlwooY3BMYd


Answer: D

Watch Video Solution

110. The atomic radii of transition series elements

A. increas as thatomic number increases.

B. decrease as atomic number increases.

C. remains almost constant.

D. increase as atomic mass decreases.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6IlwooY3BMYd
https://dl.doubtnut.com/l/_GewUxnoY5htu
https://dl.doubtnut.com/l/_Yaeda8oavn7g


111. Which one of the following elements exhibits highest

valency ?

A. Mn

B. Os

C. W

D. Mo

Answer: B

Watch Video Solution

112. Which one of the following statements is false ?

A. Lead is a non-transition lelements

https://dl.doubtnut.com/l/_Yaeda8oavn7g
https://dl.doubtnut.com/l/_VkJayqDwfRsA


B. Chrominum is a transition elements

C. Sodium is a non-transition elements

D. Zinc is a inner transition elements

Answer: D

Watch Video Solution

113. Which of the following ions has  electronic

configureation ?

A. 

B. 

C. 

d5

Cr2 +

Co3 +

Mn3 +

https://dl.doubtnut.com/l/_VkJayqDwfRsA
https://dl.doubtnut.com/l/_r2b22JQ7sWvG


D. 

Answer: D

Watch Video Solution

Fe3 +

114. Which of the following ions is colourless ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

V 3 + (Z = 23)

Cu2 + (Z = 29)

Ti4 + (Z = 22)

Fe2 + (Z = 26)

https://dl.doubtnut.com/l/_r2b22JQ7sWvG
https://dl.doubtnut.com/l/_jEshNdwLfsRF


115. maximum number of variable oxidation state in a

transition series are exhibited by

A. extreme left elements

B. exterme right elements

C. middle elements

D. all transition elements

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jEshNdwLfsRF
https://dl.doubtnut.com/l/_cMqE3xb95O4V


116. Which of the following metals exhibits more than one

oxidation state ?

A. Fe

B. Zn

C. Cr

D. Both (a) and (x c )

Answer: D

Watch Video Solution

117. Which of the following species is expected to be

paramagnetic ?

https://dl.doubtnut.com/l/_sbGOjw4zGbPY
https://dl.doubtnut.com/l/_BWoksrsC1Ewv


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Zn2 +

Cu+

Cu2 +

H2

118. The density of Sc is

A. 

B. 

C. 

2.99gm/ml

5.96gm/ml

8.99gm/ml

https://dl.doubtnut.com/l/_BWoksrsC1Ewv
https://dl.doubtnut.com/l/_UH789RSKMKwV


D. 

Answer: D

Watch Video Solution

4.90gm/ml

119. In first transition series, the melting point of Mn is low

because

A. Due to  configuration, metallic bonds are strong

B. Due to  configuration, metallic bonds are weak

C. Dur to  configuration, metallic bonds are weak

D. none of these

Answer: C

d10

d7

d5

https://dl.doubtnut.com/l/_UH789RSKMKwV
https://dl.doubtnut.com/l/_Ay8MAcfbRoly


Watch Video Solution

120. Of the ions  and  [atomic number of 

]

A.  is colourless and  are

coloured

B. all three are coloured

C. all three are colourless

D.  is coloured and  are

colourless

Answer: A

Watch Video Solution

Zn2, Ni2 + Cr3 +

Zn = 30, Ni = 28, Cr = 24

Zn2 + Ni2 + and Cr3 +

Ni2 + Zn2 + and Cr3 +

https://dl.doubtnut.com/l/_Ay8MAcfbRoly
https://dl.doubtnut.com/l/_iRDizo6mhIw6


121. Paramagnetism is exhibited by molecules which

A. not attracted in a magnetic field

B. carrying a positive charge

C. containing unpaired electrons

D. containing only paired electrons

Answer: C

Watch Video Solution

122. Which one of the following is transition element ?

A. Mg

https://dl.doubtnut.com/l/_iRDizo6mhIw6
https://dl.doubtnut.com/l/_E3gbqkSFW3uP
https://dl.doubtnut.com/l/_PKaZccs8CzQ1


B. Ca

C. Ni

D. Na

Answer: C

Watch Video Solution

123. Which of the following is a colourless ion?

A. 

B. 

C. 

D. 

Cu+ 2

Fe+ 3

Ti+ 3

Zn+ 2

https://dl.doubtnut.com/l/_PKaZccs8CzQ1
https://dl.doubtnut.com/l/_iKgpCt0wn4lk


Answer: D

Watch Video Solution

124. If a compund absorbs orange colour from the white

light, then the observed colour of the compound is

A. yellow

B. orange

C. blue

D. violet

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_iKgpCt0wn4lk
https://dl.doubtnut.com/l/_SbgRaYWK5Ipy


125. The atomic radii of transition elements in a period are.

A. smaller than those of s-block as well as p-block

elements

B. greater than those of s-block as well as p-block

elements.

C. smaloler than toose of s-block but greater than

those of p-block elements.

D. greater than thiose of s-block but smaller than those

of p-block

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_c1O7UvZqI24h


126. Which of the following d-block elements has 

configuration ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

d10

Cu, Ag, An

Zn, Cd, Hg

Fe, Co, Ni

Ru, Rh, Pd

127. The ore cromite contsins FeO and

A. CrO3

https://dl.doubtnut.com/l/_BsQs4FSzZDmQ
https://dl.doubtnut.com/l/_0V4Bd4KyOOtj


B. 

C. 

D. 

Answer: C

Watch Video Solution

ZnCO3

Cr2O3

CrO4

128. An atom with atomic number 21 belongs to the

category of

A. s-block elements

B. p-block elements

C. d-block elements

https://dl.doubtnut.com/l/_0V4Bd4KyOOtj
https://dl.doubtnut.com/l/_rSnvJ7ZfLtPF


D. f-block elements

Answer: C

Watch Video Solution

129. The highest magnetic moments is shown by the

transition metal ion with the outermost electronic

configuration is:

A. 

B. 

C. 

D. 

3d2

3d5

3d7

3d9

https://dl.doubtnut.com/l/_rSnvJ7ZfLtPF
https://dl.doubtnut.com/l/_6HJCXty5Qlnu


Answer: B

Watch Video Solution

130. Which of the following pair of ions have the same

number of unpaired electrons

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ni+ 2, Co+ 2

Mn+ 2, Fe+ 3

Mn+ 2, Ni+ 2

Ti+ 3, Co+ 2

https://dl.doubtnut.com/l/_6HJCXty5Qlnu
https://dl.doubtnut.com/l/_1Iu0qshpYT6r


131. A transition element  has a configuration  in

its  oxidation state. Its atomic number is

A. 25

B. 26

C. 22

D. 10

Answer: A

Watch Video Solution

X [Ar]3d4

+3

132. The maximum number of transition metal elements

that can be accommodated in any series

https://dl.doubtnut.com/l/_78MQDvzjLMVA
https://dl.doubtnut.com/l/_uCb3ZHXnczP7


A. 4

B. 6

C. 8

D. 10

Answer: D

Watch Video Solution

133. The pair of atoms with anomalous (exceptional)

electron congigurations

A. 

B. 

Cu, Cr

Cu, Zn

https://dl.doubtnut.com/l/_uCb3ZHXnczP7
https://dl.doubtnut.com/l/_Yqjxedte3vV5


C. 

D. 

Answer: A

Watch Video Solution

Cr, Cd

Cr, Zn

134. The transition metals possess strong binding jforce

because of

A. unfilled 'p' orbital

B. incomplest 'd' orbitals

C. filled 'd' orbitals

D. filled 's' and 'dd orbitals

https://dl.doubtnut.com/l/_Yqjxedte3vV5
https://dl.doubtnut.com/l/_Vx7kTgXj0T50


Answer: B

Watch Video Solution

135. Least paramagnetic property is shown by

A. Fe

B. Mn

C. Ni

D. Cu

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Vx7kTgXj0T50
https://dl.doubtnut.com/l/_PmJVoUFFxaF6
https://dl.doubtnut.com/l/_8c4HqCoAMtji


136. Transition metals from

A. Ionic bonds

B. Ionic, covalent and coordinate covalent bonds

C. Covalent bonds

D. Vordinate covalent bonds

Answer: B

View Text Solution

137. Which one of the following represents the electronic

configuration of  transition elements

A. 

2nd

4d10, 5s2

https://dl.doubtnut.com/l/_8c4HqCoAMtji
https://dl.doubtnut.com/l/_rtYiOD9yIzvy


B. 

C. 

D. 

Answer: B

Watch Video Solution

4d1 − 10, 5s0 − 2

4f 14, 5d1 − 10, 6s2

5f 14, 5d10, 7s2

138. Transition metals are less reactive because of their

A. high ionization potential and low m.p.

B. high inization potential and high m.p.

C. low ionization potential with low m.p.

D. low inization potential and high m.p.

https://dl.doubtnut.com/l/_rtYiOD9yIzvy
https://dl.doubtnut.com/l/_govyO6ZpbOdi


Answer: B

Watch Video Solution

139. The number of d-electrons in  ion is equal to

that of

A. d-electrons in 

B. d-electrons in 

C. d-electrons in 

D. d-electrons in 

Answer: C

Watch Video Solution

Fe+ 2

Ni2 +

V 2 +

CO3 +

Cr+

https://dl.doubtnut.com/l/_govyO6ZpbOdi
https://dl.doubtnut.com/l/_DM5A6AJdKINf


140. Which one of the following is an example of non-

typical transition elements?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Li, K, Na

Be, Al, Pb

Zn, Cd, Hg

Ba, Ca, Sr

141. Transition metal exhibits an oxidation state grater

than  due to loss of+2

https://dl.doubtnut.com/l/_vr1mOvDCYt6U
https://dl.doubtnut.com/l/_j1RqZA0aoG4M


A. p-electron

B. s and p-electrons

C. p and d-electrons

D. s and d-electrons

Answer: D

Watch Video Solution

142. The stable oxidation state likely to be shown by first

row transition metals is

A. 

B. 

Cr3 +

V 3 +

https://dl.doubtnut.com/l/_j1RqZA0aoG4M
https://dl.doubtnut.com/l/_kpi5R5WtJ4oy


C. 

D. 

Answer: D

Watch Video Solution

Co4 +

Mn7 +

143. Interstitial compounds are formed by

A. 

B. 

C. 

D. all of thes

Answer: D

Fe, Co

Co, Ni

Fe, Ni

https://dl.doubtnut.com/l/_kpi5R5WtJ4oy
https://dl.doubtnut.com/l/_hTGFd7KhW3Qu


View Text Solution

144. The pair of elements which can show +1 odidation

state.

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Cr, Zn

Fe, Zn

Cr, Cu

Cu, Zn

https://dl.doubtnut.com/l/_hTGFd7KhW3Qu
https://dl.doubtnut.com/l/_6ZcOgRTMaLxE


145. Transitions elements show generally positive

oxidation state due to

A. large atomic size

B. low inization energy

C. low electronegativity

D. high electronegativity

Answer: C

Watch Video Solution

146. The most stable oxidation state of copper is

A. +1

https://dl.doubtnut.com/l/_9mwgUcXwVzGd
https://dl.doubtnut.com/l/_QXiVyz1rcD5J


B. 

C. 

D. 

Answer: A

Watch Video Solution

+2

+3

+4

147. The common oxidation state of transition elements is

A. 

B. 

C. 

D. 

+2

+4

+3

+7

https://dl.doubtnut.com/l/_QXiVyz1rcD5J
https://dl.doubtnut.com/l/_OrKTLcC3BgTk


Answer: A

View Text Solution

148. Which of the following transition elements does not

exhibit variable oxidation states ?

A. Sc

B. Fe

C. Ni

D. Zn

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OrKTLcC3BgTk
https://dl.doubtnut.com/l/_zMwxGqqg11mX


149. The transition element that has stable condifuration

in  oxidation state is

A. Cu

B. Zn

C. Sc

D. Mn

Answer: A

Watch Video Solution

+1

150. Which of the following is not used as a catalyst ?

A. Fe

https://dl.doubtnut.com/l/_8NWGgwQEi0h7
https://dl.doubtnut.com/l/_fjx3BpLHy05E


B. Ni

C. Pt

D. 

Answer: D

Watch Video Solution

Cl2

151. the catalyst used in the hydrogenation of oils is :

A. Zn

B. Ni

C. Mo

D. Fe

https://dl.doubtnut.com/l/_fjx3BpLHy05E
https://dl.doubtnut.com/l/_nSh297PAgQvi


Answer: B

Watch Video Solution

152. Which of the following ions is paramagnetic ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu+

Zn+ 2

Ti+ 3

Ti+ 4

https://dl.doubtnut.com/l/_nSh297PAgQvi
https://dl.doubtnut.com/l/_ton1UrxTmztJ
https://dl.doubtnut.com/l/_KqnfDTnHUD8n


153. In which of the following ions, d-d transition is not

possible

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Ti4 +

Cr3 +

Mn2 +

Cu2 +

154. The lowest magnetic moment is shown by the

transition metal ion with the configuration

https://dl.doubtnut.com/l/_KqnfDTnHUD8n
https://dl.doubtnut.com/l/_pJVC7Aae8kzg


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3d2

3d3

3d7

3d9

155. The magnetic nature of 

A. diamagnetic

B. paramagnetic

C. ferro magnetic

Zn+ 2

https://dl.doubtnut.com/l/_pJVC7Aae8kzg
https://dl.doubtnut.com/l/_Ja8ohUOBp3Ae


D. none

Answer: A

Watch Video Solution

156. Which of the following atom would be rappled by

magnetic filed ?

A. Ti

B. Cr

C. Ni

D. Zn

Answer: D

https://dl.doubtnut.com/l/_Ja8ohUOBp3Ae
https://dl.doubtnut.com/l/_nBGeGVz9ZER8


Watch Video Solution

157. The number of unpaired electrons in  is

A. 2

B. 3

C. 4

D. 0

Answer: D

Watch Video Solution

Zn2 +

158. One of the following is diamagnetic

https://dl.doubtnut.com/l/_nBGeGVz9ZER8
https://dl.doubtnut.com/l/_r8ALWFbqc1Ep
https://dl.doubtnut.com/l/_2s9CHroL3jTE


A. Cu

B. 

C. 

D. all the above

Answer: B

Watch Video Solution

Cu+

Cu2 +

159. The common oxidation states of Ti are

A. 

B. 

C. 

+2

+3

+4

https://dl.doubtnut.com/l/_2s9CHroL3jTE
https://dl.doubtnut.com/l/_pXbn1ipRxEZm


D. 

Answer: C

Watch Video Solution

+5

160. Transition metals:

A. exhibit diamagnetism

B. undergo inert pair effect

C. do not form alloys

D. show variable oxidation states

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_pXbn1ipRxEZm
https://dl.doubtnut.com/l/_SZYnk0sJR0Ic


161. Among  and  (At.

No. , the

colourless species are -

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

TiF 2 −
6 , CoF 3 −

6 , Cu2C12 NiC12 −
4

Ti = 22, Co = 27, Cu = 29, Ni = 28)

CoF 3 −
6 and NiCl

2 −
4

TiF 2 −
6 and NiCl4 ^ (2 − )

Cu2Cl2 and NiCl
2 −
4

TiF 2 −
6 and Cu2Cl2

https://dl.doubtnut.com/l/_SZYnk0sJR0Ic
https://dl.doubtnut.com/l/_xDrejBXG7OjU


162. Mercury is the only metal which is liquid at . This

is due to its

A. very high ionization energy and weak metallic bond

B. Low inisation potential

C. High atomic weight

D. High vapour pressure

Answer: A

Watch Video Solution

0∘C

163. The magnetic moment (in BM) of  ion according

to spin-only formula is

Zn2 +

https://dl.doubtnut.com/l/_uGhArfTF3fdw
https://dl.doubtnut.com/l/_wGYlrxzhBVef


A. zero

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.73

2.84

3.87

164. The metal ion which does not form coloured

compound is

A. Cr

B. Fe

https://dl.doubtnut.com/l/_wGYlrxzhBVef
https://dl.doubtnut.com/l/_hbbemf9PAlOj


C. Zn

D. Mn

Answer: C

Watch Video Solution

165. Which of the following element has maximum, first

ionisation potential?

A. V

B. Ti

C. Cr

D. Mn

https://dl.doubtnut.com/l/_hbbemf9PAlOj
https://dl.doubtnut.com/l/_GOIDhz7BhDSN


Answer: D

Watch Video Solution

166. Which metal common in brass and bronze ?

A. Zn

B. Mg

C. Cu

D. Al

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_GOIDhz7BhDSN
https://dl.doubtnut.com/l/_JEcbSandmiIA
https://dl.doubtnut.com/l/_d93CGj8etRno


167. The 3d-series elements ranges

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Z = 21 − 30

Z = 22 − 30

Z = 20 − 30

Z = 31 − 40

168. The elements which exhibit both vertical and

horizontal similarities are:

A. inert gas elements

https://dl.doubtnut.com/l/_d93CGj8etRno
https://dl.doubtnut.com/l/_kXf1y1UQMQGI


B. representative elements

C. rare elements

D. transition elements

Answer: D

Watch Video Solution

169. The number of unpaired electron in 

is :- 

(a). Four 

(b). Two 

(c). Five 

(d). Three

Mn4 + (Z = 25)

https://dl.doubtnut.com/l/_kXf1y1UQMQGI
https://dl.doubtnut.com/l/_sv2SZqnpfwhm


A. 5

B. 4

C. 3

D. 2

Answer: A

Watch Video Solution

170. Number of unpaired electrons in  (Z = 26) is

A. 5

B. 6

C. 3

Fe3 +

https://dl.doubtnut.com/l/_sv2SZqnpfwhm
https://dl.doubtnut.com/l/_uep8uYgfxFX6


D. 4

Answer: A

Watch Video Solution

171. The number of unpaired electrons in a nickel atom

(ground state) are (At. No. of Ni=28)

A. 2

B. 5

C. 3

D. 7

Answer: A

https://dl.doubtnut.com/l/_uep8uYgfxFX6
https://dl.doubtnut.com/l/_Ww5E1aMfmDT9


Watch Video Solution

172. Match list I with list II and select the correct answer

using the codes given below the lists 

A. 

B. 

C. 

D. 

List I List II

Metal Ions Magnetic moment (B,M)

A. Cr3 + 1. √35

B. Fe2 + 2. √30

C. Ni2 + 3. √24

D. Mn2 + 4. √15

5. √8

A − 1, B − 3, C − 5D − 4

A − 2, B − 3, C − 5, D − 1

A − 4, B − 3, C − 5, D − 1

A − 4, B − 5, C − 3, D − 1

https://dl.doubtnut.com/l/_Ww5E1aMfmDT9
https://dl.doubtnut.com/l/_mim6JPUYf2BY


Answer: C

Watch Video Solution

173. Which of the following compounds is used at the

staring material for the preparation of 

A. Chrome alum

B. Chromo yellow

C. Chromit ore

D. Chrome red

Answer: C

View Text Solution

K2Cr2O7 ?

https://dl.doubtnut.com/l/_mim6JPUYf2BY
https://dl.doubtnut.com/l/_04Mx8JXzRD6L


174. In  bond anlge is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Cr2O
2 −
7 , Cr − O − Cr

109∘

126∘

180∘

90∘

175. Solid  on heating with  forms

A. MnO

KmnO4 H2

https://dl.doubtnut.com/l/_NDkX3KZiAigj
https://dl.doubtnut.com/l/_RyLKEwaXIP5w


B. KOH

C. 

D. all of these

Answer: D

View Text Solution

H2O

176.  is

A. oxidizing agent

B. reducing agent

C. both 'a' and 'b'

D. none of these

KMnO4

https://dl.doubtnut.com/l/_RyLKEwaXIP5w
https://dl.doubtnut.com/l/_DpFFXE9IMW8x


Answer: A

Watch Video Solution

177. Potassium permanganate acts as an oxidant in

neutral, alkaline as well as acidic media. The final product

obtained from it in three condition are respectively:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO2'MnO2, Mn2 +

MnO2, Mn3 + , Mn2 +

MnO2, MnO
2 −
4 , Mn3 +

MnO, MnO4, Mn2 +

https://dl.doubtnut.com/l/_DpFFXE9IMW8x
https://dl.doubtnut.com/l/_55Mt0JWyfpr8


Watch Video Solution

178. In  every Cr atom is linked to

A. one oxygen atom

B. two oxygen atom

C. three oxygen atom

D. four oxygen atom

Answer: D

Watch Video Solution

Cr2O
2 −
7

179. Acidified potassium dichromate is treated with

hydrogen sulphide. In the reactiion, the oxidation number

https://dl.doubtnut.com/l/_55Mt0JWyfpr8
https://dl.doubtnut.com/l/_NE7Y9ralOFjI
https://dl.doubtnut.com/l/_CLaj2Au2sknu


of chromium

A. Increases from  to 

B. Decrease from  to 

C. Remains unchanged

D. Decreases from to 

Answer: B

Watch Video Solution

+3 +6

+6 +3

+6 +2

180. Ethylene reacts with alkaline  to form-

A. Ethanol

B. Ethane 1,2-diol

KMnO4

https://dl.doubtnut.com/l/_CLaj2Au2sknu
https://dl.doubtnut.com/l/_YeScqzqZ4lYn


C. Ethylene glyocal

D. both 'b' and 'c'

Answer: C

Watch Video Solution

181. The yellow colour of chromates changes to orange on

acidification due to the formation of

A. 

B. 

C. 

D. 

Cr3 +

Cr2O3

Cr2O
2 −
7

CrO3

https://dl.doubtnut.com/l/_YeScqzqZ4lYn
https://dl.doubtnut.com/l/_nOXebmqoyvFu


Answer: C

Watch Video Solution

182. Chromyl chloride tsts is used to detect

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO−
2

OH −

Cl−

Cn−

https://dl.doubtnut.com/l/_nOXebmqoyvFu
https://dl.doubtnut.com/l/_TsfiAqOFEUwG
https://dl.doubtnut.com/l/_2T1KU2JxUgDY


183. The shape of  is ….and Cr atom

involves.l..hydrization.

A. square planar, 

B. tetrahedral, 

C. square planar, 

D. linear, sp.

Answer: B

View Text Solution

CrO
2 −
4

dsp2

sp3

d2sp3

184. Pick out the incorrect statement about 

A. It act as oxidising agent in basic medium

K2Cr2O7

https://dl.doubtnut.com/l/_2T1KU2JxUgDY
https://dl.doubtnut.com/l/_7FMqQnPjCimp


B. It dissolves in alkali to form chromate

C. It oxidizes  solution to 

D. It is used as cleansing agent for glassware etc. when

mixzed with cold conc 

Answer: A

Watch Video Solution

FeSO4 Fe2(SO4)3

H2SO4.

185. Pick out incorrect statemment about 

A. It oxidazes KI to 

B. It oxidizes Ki to 

C. It oxidizes  to 

K2Cr2O7.

I2

I2

SO2 K)2SO4

https://dl.doubtnut.com/l/_7FMqQnPjCimp
https://dl.doubtnut.com/l/_F7gnXQrxcsYP


D. It oxidizes  to S

Answer: D

View Text Solution

SO2

186. The addition of acidic  to NaCl produces a

colour

A. green

B. pink

C. red

D. violet

Answer: C

K2Cr2O7

https://dl.doubtnut.com/l/_F7gnXQrxcsYP
https://dl.doubtnut.com/l/_JFQKdgAl5Qj7


View Text Solution

187. Which of the following compounds is formed when a

mixture of  is heated with conc. 

 ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K2Cr2O7 and KCl

H2SO4

CrO2Cl2

CeCL3

CrOCl2

CrO2Cl2

https://dl.doubtnut.com/l/_JFQKdgAl5Qj7
https://dl.doubtnut.com/l/_sXTV94bOZJGe
https://dl.doubtnut.com/l/_p6Px3A59Fcli


188. Formula of chromyl chloride is-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr2Ocl2

CrCl3

CrOCl2

CrO2Cl2

189. Pick out the incorrect statement.

A.  is quite strongly oxidizing and stable only

in very strong alkalies. In dilute alkali, water or acidic

MnO
2 −
4

https://dl.doubtnut.com/l/_p6Px3A59Fcli
https://dl.doubtnut.com/l/_FjJsBHzYI8T3


solutions , it disproportionates.

B. In acidic solutions,  is reduced to  and

thus,  is widely used as oxidizing agent

C.  does not act as oxidizing agent in alkaline

medium

D.  is manufactured by the fusion of pyrolusite

ore with KOH in presence of air or  followed

by electrolytic oxidation in alkaline solution.

Answer: C

Watch Video Solution

MnO
−
4 Mn2 +

KMnO4

KMnO4

KMnO4

KNO3.

https://dl.doubtnut.com/l/_FjJsBHzYI8T3


190.  ions can be reduced in strongly alkaline

medium to give

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MnO
−
4

MnO2

Mn1 +

MnO
2 −
4

MnO−
3

191. On adding  to cold conc.  it gives

A. 

KMnO4 H2SO4,

MnO2

https://dl.doubtnut.com/l/_1YdYFpJj3dSy
https://dl.doubtnut.com/l/_DYrpF8nvH8oR


B. 

C. 

D. 

Answer: C

Watch Video Solution

Mn2O3

Mn2O7

MnO3.

192. In acidic medium oxidation state of Mn changes from

A.  to 

B.  to 

C.  to 

D.  to 

+7 +2

+6 +2

+3 +2

−5 +2

https://dl.doubtnut.com/l/_DYrpF8nvH8oR
https://dl.doubtnut.com/l/_1ygjCkQL2EdS


Answer: A

Watch Video Solution

193. The equivalent weights of  as an oxidising

agent in acidic and neutral media will be respectively (M =

molecular weight of  )

A. M/7 and M/2

B. M/5 and M/3

C. M/4 and M/5

D. M/2 and M/4

Answer: B

View Text Solution

KMnO4

KMnO4

https://dl.doubtnut.com/l/_1ygjCkQL2EdS
https://dl.doubtnut.com/l/_a1PBbYPEE5Pj


View Text Solution

194. When  solution is added to hot oxalic acid

solution the decoloursitation is slow in the beginning but

becomes instantaneous after some time. This is because

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

KMnO4

MnSO4

MnO2

MnO
2 −
4

MnO−
3

https://dl.doubtnut.com/l/_a1PBbYPEE5Pj
https://dl.doubtnut.com/l/_ZvhLyA0tCJNX


195. Equivalent weight of  when it is convert into 

 is

A. M/5

B. M/6

C. M/3

D. M/2

Answer: A

Watch Video Solution

KMnO4

MnSO4

196. Acidified  solution is decolourized by

A. toluene

KMnO4

https://dl.doubtnut.com/l/_cQoYGQVzZPXM
https://dl.doubtnut.com/l/_MwTOxY5WJ1F1


B. 

C. 

D. 

Answer: C

View Text Solution

MnSO4

H2O2

KI

197. For the redox reaction, 

 


the correct coefficients of the reactants for the balanced

reaction are

A. 

B. 

MnO
−
4 + C2O

2 −
4 + H + → Mn2 + + CO2 + H2O

MnO
−
4 C2O

2 −
4 H +

2 5 16

MnO
−
4 C2O

2 −
4 H +

6 5 2

https://dl.doubtnut.com/l/_MwTOxY5WJ1F1
https://dl.doubtnut.com/l/_0OydkrsBmmXN


C. 

D. 

Answer: A

Watch Video Solution

MnO
−
4 C2O

2 −
4 H +

5 16 2

MnO
−
4 C2O

2 −
4 H +

2 16 5

198. Potassium manganite  is formed when

A. chlorine is passe dinto aqueous  solution

B. manganes dioxide is fused with potassium hydroxide

in air

C.  is reacted whti aq. 

D.  on red heat

(K2MnO3)

KMnO4

MnSO4 KMnO4

K2MnO4

https://dl.doubtnut.com/l/_0OydkrsBmmXN
https://dl.doubtnut.com/l/_mzTR8VLV9qWG


Answer: D

View Text Solution

199. Which of the following statements is not true ?

A. An acidified solution of  liberated  from

KI

B. In acidic medium, dichromate ion is present

C. Neutral  oxidises KI to 

D. Potassium dichromate is an oxidising agent

Answer: C

View Text Solution

K2Cr2O7 I2

KMnO4 I2

https://dl.doubtnut.com/l/_mzTR8VLV9qWG
https://dl.doubtnut.com/l/_Emsid74Zu82e


200. Baeyer's reagent is:

A. 

B. 

C. 

D.  .

Answer: B

Watch Video Solution

KMnO4 + H2SO4

KMnO4 + KOH

KMnO4 + H2O

K2Cr2O7 + KOH

201. Following ions are equilibrium at 

Cr2O
2 −
7 ⇔ CrO

2 −
4

https://dl.doubtnut.com/l/_Emsid74Zu82e
https://dl.doubtnut.com/l/_deeQrXVV0Ovl
https://dl.doubtnut.com/l/_Srk4eJcyfMvq


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pH − 4

pH − 9

pH − 7

pH − 10

202. The mineral from which potassium permagnate is

manufactured

A. pyrolusite, 

B. braunite, 

MnO2

Mn2O3

https://dl.doubtnut.com/l/_Srk4eJcyfMvq
https://dl.doubtnut.com/l/_Za5PpxXGKcZJ


C. hausmannite, 

D. manganite, 

Answer: A

View Text Solution

Mn3O4

Mn2. H2O.

203.  is

A. Diamagnetic

B. Ferromagnetic

C. paramagnetic

D. nonmagnetic

Answer: C

MnO
2 −
4

https://dl.doubtnut.com/l/_Za5PpxXGKcZJ
https://dl.doubtnut.com/l/_bghtP5hFP640


View Text Solution

204. The reaction,  is shifted to

right in

A. an acidic medium

B. a basic medium

C. a netural medium

D. both acidic and bisic media

Answer: A

View Text Solution

MnO
2 −
4 + e− ⇔ MnO

−
4

https://dl.doubtnut.com/l/_bghtP5hFP640
https://dl.doubtnut.com/l/_uEbWNBq6u0LP


205. Equivalent mass of  in alkaline medium is

A. 158

B. 

C. 49

D. 79

Answer: B

View Text Solution

kMnO4

52.6

206. When an ecidified solution of ferrous sulphiate is

treated with potassium paramagnet solution, the ion

which is oxidised is

https://dl.doubtnut.com/l/_kl420dbv6Ke2
https://dl.doubtnut.com/l/_0Hb09oRxWAyr


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

MnO
−
4

NH
+

4

Fe3 +

SO
2 −
4

207. The shape of  ion and the hybridisation of Mn

in  is

A. 

B. 

MnO
−
4

MnO
−
4

sp3

sp2

https://dl.doubtnut.com/l/_0Hb09oRxWAyr
https://dl.doubtnut.com/l/_6ga94V2RXTet


C. 

D. 

Answer: A

Watch Video Solution

sp

sp3d2

208.  has  geometry

A. Trigonal

B. Tetrahedral

C. Octahedral

D. Pyramidal

Answer: B

MnO
2 −
4 _____

https://dl.doubtnut.com/l/_6ga94V2RXTet
https://dl.doubtnut.com/l/_ia9Cyfc04khu


Watch Video Solution

209. At red heat  decompose into,

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

KMnO4

K2MnO2

K2MnO3

K2SO4

KHSO4

https://dl.doubtnut.com/l/_ia9Cyfc04khu
https://dl.doubtnut.com/l/_aMIpVWoTGKLv


210.  act as oxidising agent in netural medium. It

accept how many electrons to convert 

A. 2

B. 3

C. 4

D. 5

Answer: B

View Text Solution

KMnO4

MnO2.

211.  is heated with conc.  gives

A. 

KMnO4 H2SO4

Mn2O7

https://dl.doubtnut.com/l/_ID4TCYDzBrFI
https://dl.doubtnut.com/l/_GquGLRdGB1Lx


B. 

C. 

D. 

Answer: C

Watch Video Solution

MnO2

MnSO4

MnO

212. Molecular mass of  is

A. 158

B. 294

C. 198

D. 134

KMnO4

https://dl.doubtnut.com/l/_GquGLRdGB1Lx
https://dl.doubtnut.com/l/_bkrXaEhKIV7j


Answer: A

Watch Video Solution

213.  can be coverted to  

1) by oxidation of  


2) by oxidation of  

3) by oxidation of  


4) by oxidations of  

5) by electrochemical oxidation at anode

A. 

B. 

C. 

MnO
2 −
4 MnO

−
4

Cl2

CO2

H2SO4

O3

1, 2, 3

1, 3, 5

1, 2, 3, 5

https://dl.doubtnut.com/l/_bkrXaEhKIV7j
https://dl.doubtnut.com/l/_RtyUZ6l4lY1K


D. 

Answer: D

View Text Solution

1, 2, 3, 4, 5

214. When  is passed through an acidified 

solution, the oxidation state of sulphur changes from

A.  to 

B.  to 

C.  to 0

D.  to 

Answer: A

SO2 K2Kr2O7

+4 +6

+6 +4

+4

+4 +2

https://dl.doubtnut.com/l/_RtyUZ6l4lY1K
https://dl.doubtnut.com/l/_KgnwLUNsJGrQ


Watch Video Solution

215. Which one of the following is reduced by hydrogen

peroxide in acid medium?

A. Potassium permagnete

B. Potassium iodide

C. Ferrous sulphate

D. Potassium ferrocyanide

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KgnwLUNsJGrQ
https://dl.doubtnut.com/l/_UtinDIXtXdqx


216. Traces of  in conc.  may be changed to `

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MnO
−
4 H2SO4

MnO
2 −
4

Mn2 +

Mn2O7

MnO−
3

217. Pyrolusite in  is used to prepare 

steps are 

 The I and II are,

MnO2 KMnO4.

MnO2

I

MnO
2 −
4

II
−−→ MnO

−
4 .

https://dl.doubtnut.com/l/_e5FvjRf9GeJP
https://dl.doubtnut.com/l/_hmPYDZ96x85y


A. I=Fused with KOH/air II=electrolytic oxidation

B. I=Fused with KOH/air II=Electrolytic reduction

C. I=Fused with conc. /air II=electrolytic

oxidation

D. I=Fused with conc. /aire II=electrolytic

reduction

Answer: A

View Text Solution

HNO3

HNO3

218. Which statement is not correct

https://dl.doubtnut.com/l/_hmPYDZ96x85y
https://dl.doubtnut.com/l/_Ie4dlLGGnL6h


A. Potassium paramagnet is a powerful oxidising

substance

B. Potassium paramagnet is a weakeer oxidising

substance than potassium dichromate

C. Potassium permanganate is a stronger oxidising

substance than potassium dichromate

D. Potassium dichromate oxidises a secondary alcohol

into a ketone

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_Ie4dlLGGnL6h


219. In acidic medium 

A. Disproporationates to 

B. It oxidised to 

C. It reduced to 

D. It reduced to 

Answer: A

Watch Video Solution

MnO
2 −
4

MnO
−
4 and MnO2

MnO
−
4

MnO2

Mn2 +

220. Which is not true statement about 

A. it's solution is unstable in acidic medium

KMnO4

https://dl.doubtnut.com/l/_7pAOs9RMhkLa
https://dl.doubtnut.com/l/_qxPaPJrLvXn9


B. its small quantity added to conc.  a

solourless solution containing  ion

C.  changes to  ion in basic medium

D. it act as oxidising agent in acidic, basic and netural

medium

Answer: C

View Text Solution

H2SO4

Mn2 +

MnO
−
4 Mn2 +

221. The product of oxidation of  with  in

alkaline medium is

A. 

I − MnO
−
4

IO−
3 , MnO2

https://dl.doubtnut.com/l/_qxPaPJrLvXn9
https://dl.doubtnut.com/l/_2fhcIAuvvV94


B. 

C. 

D. 

Answer: A

Watch Video Solution

I2, MnO
2 −
4

I2, MnO2

IO− , MnO
2 −
4

222. The colour of  changes from red-orange to

lemon-yellow on treatment with , because of:

A. The reduction of  to 

B. The formation of chromium hydroxide

C. The conversion of dichromate to chromate

K2Cr2O7

KOH ( aq . )

CrV I CrIII

https://dl.doubtnut.com/l/_2fhcIAuvvV94
https://dl.doubtnut.com/l/_Qu96KHwNahkm


D. The oxidation of potassium hydroxide to potassium

peroxide

Answer: C

Watch Video Solution

223. At  existas

A. 

B. 

C. 

D. 

Answer: D

pH = 4. Cr2O
2 −
7

CrO2 +
2

CrO
2 −
4

CrO
2 +
4

Cr2O
2 −
7

https://dl.doubtnut.com/l/_Qu96KHwNahkm
https://dl.doubtnut.com/l/_EhJO45I7D0e2


View Text Solution

224. At  changes to:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pH = 12, Cr2O
2 −
7

CrO3

CrO2 +
2

CrO
2 −
4

CrO
2 +
4

225. When  reacts with acidified KMnO4 FeSO4

https://dl.doubtnut.com/l/_EhJO45I7D0e2
https://dl.doubtnut.com/l/_BzpzsyqZ0anR
https://dl.doubtnut.com/l/_9dZQ0Fkcgkx6


A. Only  is oxidised

B. Only  is oxidised

C.  is oxidised and  is reduced

D. none of these

Answer: C

Watch Video Solution

FeSO4

KMnO4

FeSO4 KMnO4

226.  


x and y can be :

A. 4 and 5

B. 4 and 8

Cr2O
2 −
7

pH =x

−−−→ CrO
2 −
4

pH =y

−−−→ Cr2O
2 −
7

https://dl.doubtnut.com/l/_9dZQ0Fkcgkx6
https://dl.doubtnut.com/l/_SR1WhWs0rhpq


C. 8 and 4

D. 8 and 10

Answer: C

Watch Video Solution

227.  reacts with KI in acidic medium gives

A. 

B. 

C. 

D. 

Answer: B

KMnO4

KIO3 + MnO2

I2 + MnSO4

I2 + MnO
2 −
4

KOI + MnO
2 −
4

https://dl.doubtnut.com/l/_SR1WhWs0rhpq
https://dl.doubtnut.com/l/_6Zc6nci1e6zP


Watch Video Solution

228. Acidic  oxidises  to

A. S

B. 

C. 

D. MnSO_(4)`

Answer: C

Watch Video Solution

KMnO4 SO2

SO3

H2SO4

229. Acidic  oxidises KI toK2Cr2O7

https://dl.doubtnut.com/l/_6Zc6nci1e6zP
https://dl.doubtnut.com/l/_0SXQiC9eIVra
https://dl.doubtnut.com/l/_mld0mAE0NSRv


A. KOI

B. 

C. HI

D. 

Answer: D

Watch Video Solution

KOI3

I2

230. Acidic  oxidises  to  and itself

reduced into

A. 

B. 

K2Cr2O7 S2 K2SO4

Cr2(SO4)3

CrO3

https://dl.doubtnut.com/l/_mld0mAE0NSRv
https://dl.doubtnut.com/l/_luhGU2NQ8vyf


C. 

D. 

Answer: A

Watch Video Solution

H2CrO4

KOH

231. f-block elements are placed in

A.  group,  row

B.  group,  row

C.  group  row

D.  group,  row

Answer: B

2nd 4th and 5th

3rd 6th and 7th

4th 4th and 5th

5th 4th and 7th

https://dl.doubtnut.com/l/_luhGU2NQ8vyf
https://dl.doubtnut.com/l/_inPccJCZuZGP


Watch Video Solution

232. block elements (sometimes called inner transition

elements) are the elements in which the last electron

enters the_____________orbitals.

A. electrons are edded in  f shell

B. electrons are added in  f shell

C. electrons are added in  f shell

D. electrons are added in  d shell

Answer: C

Watch Video Solution

f −

(n − 3)

(n − 1)

(n − 2)

(n − 2)

https://dl.doubtnut.com/l/_inPccJCZuZGP
https://dl.doubtnut.com/l/_0McZp8kIch2b
https://dl.doubtnut.com/l/_3KCaZ37IMcNG


233. f-block elemement are divided in to

A. 1 series

B. 2 series

C. 3 series

D. 4 series

Answer: B

Watch Video Solution

234. Lanthandies and actinides are

A. s-block elements

B. p-block elements

https://dl.doubtnut.com/l/_3KCaZ37IMcNG
https://dl.doubtnut.com/l/_c6kdqccGntq9


C. d-block elements

D. f-block elements

Answer: A

Watch Video Solution

235. Lanthanides are known as

A. rare earth elements

B. 4-f series elements

C.  inner transition elements

D. all of these

Answer: D

1st

https://dl.doubtnut.com/l/_c6kdqccGntq9
https://dl.doubtnut.com/l/_tM0L7dZsfdst


Watch Video Solution

236. Actinides are known as

A. 5-f series elements

B.  inner transition elements

C. radio active elemenrts

D. all of these

Answer: D

View Text Solution

2nd

237. The elements present in alnthanide series are

https://dl.doubtnut.com/l/_tM0L7dZsfdst
https://dl.doubtnut.com/l/_qVT18xVazJDf
https://dl.doubtnut.com/l/_EbGDXh3oyDde


A. 14

B. 15

C. 16

D. 17

Answer: A

Watch Video Solution

238. The elements present in actinides series are

A. 14

B. 15

C. 16

https://dl.doubtnut.com/l/_EbGDXh3oyDde
https://dl.doubtnut.com/l/_fSFSOFKACk0R


D. 17

Answer: A

Watch Video Solution

239. Lanthanum is

A. d-block element

B. f-block element

C. s-block element

D. p-block element

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fSFSOFKACk0R
https://dl.doubtnut.com/l/_WbiVgj97G3ZG


240. 4-f series start from

A. La to Lu

B. Ce to Lu

C. Gd to Lu

D. Pr to Lu

Answer: B

Watch Video Solution

241. In 4-f series penultimate shell contain how many

electrons ?

https://dl.doubtnut.com/l/_WbiVgj97G3ZG
https://dl.doubtnut.com/l/_zAMnHNqZoam5
https://dl.doubtnut.com/l/_mON53ErdzOyG


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

d0to1

d1to10

d0

d10to0

242. In 4-f series outermost shell contains how many

electrosn ?

A. 1

B. 2

https://dl.doubtnut.com/l/_mON53ErdzOyG
https://dl.doubtnut.com/l/_gSewj4pYiMr2


C. 3

D. 4

Answer: B

Watch Video Solution

243. In 4-f series anti penultimate shell contains how many

electrons ?

A. 1 to 14

B. 0 to 14

C. 2 to 7

D. 2 to 8

https://dl.doubtnut.com/l/_gSewj4pYiMr2
https://dl.doubtnut.com/l/_7VzhYbwVVkOf


Answer: A

Watch Video Solution

244. In lanthanide and actinide, the penultimate shell is

A. s

B. p

C. d

D. f

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7VzhYbwVVkOf
https://dl.doubtnut.com/l/_FVYZQ4rErsM0
https://dl.doubtnut.com/l/_zXIpocizObco


245. General valence shell electronic configuration of 

block elements is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f −

(n − 2)d0 − 1, ns2, (n − 1)f 0 − 14

(n − 2)f 1 − 14, (n − 1)0 − 1
d, ns2

(n − 2)0 − 14
f, (n − 1)d0, ns2

(n − 1)f 1 − 14, (n − 1)d1, ns2

246. The last filled orbital in lanthanides is

A. 6s

https://dl.doubtnut.com/l/_zXIpocizObco
https://dl.doubtnut.com/l/_j3srHE75R43k


B. 5s

C. 4s

D. 3s

Answer: A

View Text Solution

247. The last filled orbital in actinides is

A. 6s

B. 7s

C. 5s

D. 4s

https://dl.doubtnut.com/l/_j3srHE75R43k
https://dl.doubtnut.com/l/_mnIqZDwkQVua


Answer: B

View Text Solution

248. Lantanide series arises due to

A. stability of 6s-orbitals

B. stability of 5d-orbitals

C. stability of 4f-orbitals

D. equal stability of 5d and 4f-orbitals

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_mnIqZDwkQVua
https://dl.doubtnut.com/l/_cOP5AJawkoUN
https://dl.doubtnut.com/l/_tAwo7IfIyox0


249. Actinide series is arises due to

A. stability of 5f-orbitals

B. stability of 7s-orbitals

C. stability of 6d-orbitals

D. equal stability of 6d and 5f-orbitals

Answer: A

View Text Solution

250. Actinide series start from

A. Ac to Lr

B. Th to Lr

https://dl.doubtnut.com/l/_tAwo7IfIyox0
https://dl.doubtnut.com/l/_cdor9vmIuhH5


C. U to Lr

D. Cf to Lr

Answer: B

View Text Solution

251. Actinum is

A. f-block element

B. d-block element

C. p-block element

D. s-block element

Answer: B

https://dl.doubtnut.com/l/_cdor9vmIuhH5
https://dl.doubtnut.com/l/_kPvKgYkCA5AC


Watch Video Solution

252. Which of the following is radioactive element among

the 4-f series ?

A. Ce

B. Pm

C. Ho

D. Yb

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kPvKgYkCA5AC
https://dl.doubtnut.com/l/_RMJKm2xhUvTL


253. Lanthanide series start from the elements with atomic

number

A. 27 to 71

B. 58 to 71

C. 56 to 70

D. 60 to 74

Answer: B

Watch Video Solution

254. The atomic number of elements of first transition

series lie in the range of

https://dl.doubtnut.com/l/_j87XEgtcZIzf
https://dl.doubtnut.com/l/_gTZZENLXwBK4


A. 90 to 103

B. 89 to 103

C. 91 to 104

D. 90 to 104

Answer: A

Watch Video Solution

255. The first element of rare earth metals is

A. lanthanum

B. uranium

C. actinum

https://dl.doubtnut.com/l/_gTZZENLXwBK4
https://dl.doubtnut.com/l/_XZ0fV4PNFncz


D. cericum

Answer: D

Watch Video Solution

256. Last element of lanthanide series is:

A. Yb

B. Lu

C. Lr

D. Th

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XZ0fV4PNFncz
https://dl.doubtnut.com/l/_ZYjGHY3MxTGj


257. The first element in actinide series is

A. Ac

B. Th

C. Pu

D. Cm

Answer: B

Watch Video Solution

258. The last ement in actinide series is

A. No

https://dl.doubtnut.com/l/_ZYjGHY3MxTGj
https://dl.doubtnut.com/l/_kr47yJ3BIdTh
https://dl.doubtnut.com/l/_Sxh5adREObvF


B. Bk

C. Lr

D. Fm

Answer: C

Watch Video Solution

259. Actinum is the element of

A. transition series

B. inner transition series

C. 5f series

D. none of these

https://dl.doubtnut.com/l/_Sxh5adREObvF
https://dl.doubtnut.com/l/_tMaq0i7QmxLg


Answer: A

Watch Video Solution

260. Californium is the member of

A. 4f series

B. 5f series

C. p-block

D. d-block

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tMaq0i7QmxLg
https://dl.doubtnut.com/l/_ZVJHnJcoKjby
https://dl.doubtnut.com/l/_X8N76E51UvY9


261. Actinides

A. are all synthetic elements

B. including elements of atomic number 104

C. have only short lived isotopes

D. have variable valency

Answer: D

Watch Video Solution

262. No is the member of 5f series. The other members of

this group are

A. Th and Pm

https://dl.doubtnut.com/l/_X8N76E51UvY9
https://dl.doubtnut.com/l/_VZ2Nq9klxh0r


B. Cm and Sm

C. Tm and Th

D. Am and Fm

Answer: D

Watch Video Solution

263. The position of neodymium in between

A. Eu and Tb

B. Ho and Tm

C. Pr and Pm

D. Pm and Eu

https://dl.doubtnut.com/l/_VZ2Nq9klxh0r
https://dl.doubtnut.com/l/_7cKyqOjjGU2b


Answer: C

Watch Video Solution

264. Which of the following element belong to actinide

series ?

A. La

B. Lu

C. Gd

D. Th

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7cKyqOjjGU2b
https://dl.doubtnut.com/l/_USboqG3F9mw9


265. The position of actinides is suggested by

A. Van Hevesy

B. Seaborg

C. Biot

D. Pasture

Answer: B

View Text Solution

266. Total number of transuranic elements present in

periodic table are `

A. 11

https://dl.doubtnut.com/l/_8jP18SbPaleq
https://dl.doubtnut.com/l/_mTsSUHpAqTrR


B. 25

C. 29

D. 20

Answer: B

View Text Solution

267. First transuranium element is

A. Np

B. Uup

C. Uuo

D. Uut

https://dl.doubtnut.com/l/_mTsSUHpAqTrR
https://dl.doubtnut.com/l/_ArjiziEuLaTp


Answer: A

Watch Video Solution

268. From La to Lu ionisation potential

A. decreases

B. increases

C. constant

D. first increases than decreases

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_ArjiziEuLaTp
https://dl.doubtnut.com/l/_hmlz0no49anY
https://dl.doubtnut.com/l/_0n9iZOCp2I8T


269. Which of the following is most electropositive

A. Yb

B. Lu

C. Sm

D. Dy

Answer: C

View Text Solution

270. Among the lanthanides,  ions are

A. paramagnetic

B. diamagnetic

La3 + and Lu3 +

https://dl.doubtnut.com/l/_0n9iZOCp2I8T
https://dl.doubtnut.com/l/_zbyMjnMGvodu


C. ferromagnetic

D. all of these

Answer: B

Watch Video Solution

271. How many shells are present in lanthanide

A. 6

B. 8

C. 7

D. 5

Answer: A

https://dl.doubtnut.com/l/_zbyMjnMGvodu
https://dl.doubtnut.com/l/_XMRI85b7ujNH


Watch Video Solution

272. Completely filled shells in lanthanides are

A. first 4

B. first 2

C. first 3

D. first 5

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XMRI85b7ujNH
https://dl.doubtnut.com/l/_mPmGulqnCASI


273. The last three orbitals are partially filled in which of

the following ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5th and 6th

6th

4th

4th, 5th, 6th

274. Total number of shells in actinides

A. 4

https://dl.doubtnut.com/l/_2QKxAOw4C7qr
https://dl.doubtnut.com/l/_qSwYI7E9YkaB


B. 5

C. 6

D. 7

Answer: D

Watch Video Solution

275. Completely filled shells in actinides are

A. first two

B. first three

C. first four

D. first five

https://dl.doubtnut.com/l/_qSwYI7E9YkaB
https://dl.doubtnut.com/l/_W2qA9uKGPgjZ


Answer: C

Watch Video Solution

276. Partially filled shells in actinides are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6th and 7th

6th

5th

5th, 6th, 7th

https://dl.doubtnut.com/l/_W2qA9uKGPgjZ
https://dl.doubtnut.com/l/_tUGfLgf46LFr
https://dl.doubtnut.com/l/_oDeCMlnJOmGu


277. The artificially prepared element from lanthanide

series is

A. europium

B. thulium

C. promethium

D. gadolinium

Answer: C

View Text Solution

278. Lanthanum the first member of the lanthanide series

has

https://dl.doubtnut.com/l/_oDeCMlnJOmGu
https://dl.doubtnut.com/l/_NVSyZIeXl2he


A. only 3d-orbital is filled

B. 3d and 4d-orbitals are unfilled

C. 4d and 4f-orbitals are unifilled

D. 4f and 5d-orbitals are unfilled

Answer: D

Watch Video Solution

279. Lanthanide series belongs to

A.  period

B.  period

C. period

6th

7th

5th

https://dl.doubtnut.com/l/_NVSyZIeXl2he
https://dl.doubtnut.com/l/_7vgoyDFiHNjw


D.  period

Answer: A

Watch Video Solution

4th

280. Which of the following belong to actinide series ?

A. Cm

B. La

C. Lu

D. Gd

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7vgoyDFiHNjw
https://dl.doubtnut.com/l/_DqP6WJIlBr7y


281. Usually lanthanide forms

A. ionic compounds

B. covalent compounds

C. co-ordinate compounds

D. chelate compounds

Answer: A

View Text Solution

282. In actinides incoming electron enters into

A. 4f-orbital

https://dl.doubtnut.com/l/_DqP6WJIlBr7y
https://dl.doubtnut.com/l/_kUk1kV7WYjJP
https://dl.doubtnut.com/l/_kNaJBrRCkrUx


B. 5f-orbital

C. 3f-orbital

D. 6f-orbital

Answer: B

Watch Video Solution

283. All actinides are

A. methalloid

B. inert

C. radioactive

D. nonradioactive

https://dl.doubtnut.com/l/_kNaJBrRCkrUx
https://dl.doubtnut.com/l/_Ck7Zx5sCMtzW


Answer: C

Watch Video Solution

284. The number of incomplete shells in transition

elements are

A. 0

B. 1

C. 2

D. 3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Ck7Zx5sCMtzW
https://dl.doubtnut.com/l/_KqGqGX8A5Rrd


285. The last electron of an atom in inner transition

element are called

A. s-electrons

B. p-electrons

C. d-electrons

D. f-electrons

Answer: D

Watch Video Solution

286. The individual members of the lanthanide series is

called as

https://dl.doubtnut.com/l/_Y4neFX5CFX3D
https://dl.doubtnut.com/l/_54TIVrfI3WVs


A. lanthanides

B. lanthanons q

C. 4f elements

D. all of these

Answer: D

View Text Solution

287. The individual members of the actinide series is called

as

A. actinides

B. actinons

https://dl.doubtnut.com/l/_54TIVrfI3WVs
https://dl.doubtnut.com/l/_OV1REqO3w1Rg


C.  inner transition elements

D. all of these

Answer: D

Watch Video Solution

2nd

288. Lanthanum is the first element of the lanthanide

series has

A. only 6s-orbital is filled

B. 4d and 4f-orbitals are unfilled

C. 3d and 5d-orbitals are unfilled

D. 4f-and 5d-orbitals are filled

https://dl.doubtnut.com/l/_OV1REqO3w1Rg
https://dl.doubtnut.com/l/_ubnc0J9FyjJt


Answer: A

Watch Video Solution

289. Which of the following are not transuranium

elements ?

A. Th and Pa

B. Cf and Bk

C. Md and Lr

D. Am and Np

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ubnc0J9FyjJt
https://dl.doubtnut.com/l/_JQo46RPjCrGZ


290. In case of actinides

A. first five shells are completely filled

B. first four shells are comletely filled

C. last shell is partially filled

D. last two shells are partly filled

Answer: B

Watch Video Solution

291. Element of lanthanide series belonging to

A. III A

https://dl.doubtnut.com/l/_jCvgMJ7v8BG9
https://dl.doubtnut.com/l/_ANj28Ypecz0M


B. III B

C. IV A

D. IV B

Answer: B

View Text Solution

292. Which element cannot be termed as f-block element ?

A. only Lu

B. only Lu and Ce

C. only La and Lu

D. only La and Ac

https://dl.doubtnut.com/l/_ANj28Ypecz0M
https://dl.doubtnut.com/l/_Srwr6tpRW9sO


Answer: D

Watch Video Solution

293. The f-block elements are also called as

A. transition elements

B. inner transition elements

C. rare earth elements

D. both 'b' and 'c'

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Srwr6tpRW9sO
https://dl.doubtnut.com/l/_Fcn51CWWPdRY
https://dl.doubtnut.com/l/_AA4Xx044awjj


294. The last three orbitals are partially filled in which of

the following ?

A. transition elements

B. s-block elements

C. p-block elements

D. f-block elements

Answer: D

Watch Video Solution

295. 4f and 5f-series has total number of elements

A. 13

https://dl.doubtnut.com/l/_AA4Xx044awjj
https://dl.doubtnut.com/l/_XRKUo9eb6LFY


B. 12

C. 14

D. 28

Answer: D

View Text Solution

296. In lanthanides, the differential electron is filled in

A. sf-orbital

B. 4d-orbital

C. 6f-orbital

D. 4f-orbital

https://dl.doubtnut.com/l/_XRKUo9eb6LFY
https://dl.doubtnut.com/l/_IigJ417tRpqt


Answer: D

View Text Solution

297. Which of the following 5f-series elements has fully

filled 5f-orbitals ?

A. Only nobelium and americium

B. Only nobelium and lawrencium

C. Only americium and lawrencium

D. Only americium and curium

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_IigJ417tRpqt
https://dl.doubtnut.com/l/_I6K3Mvy0QQMN


298. Which one of the following has radioactive properties

?

A. Praseody mium

B. Samarium

C. Promethium

D. Neodymium

Answer: C

Watch Video Solution

299. The element present in after Gd in lanthanide series is

A. Sm

https://dl.doubtnut.com/l/_Yb0j6ATpGGy5
https://dl.doubtnut.com/l/_5cfeBIjZBfqr


B. Tm

C. Nd

D. Pr

Answer: B

Watch Video Solution

300. The position of actinides in between

A. Ac and Sg

B. Ac and Db

C. Ac and Rf

D. Ac and Hs

https://dl.doubtnut.com/l/_5cfeBIjZBfqr
https://dl.doubtnut.com/l/_PcGxbFFipfOR


Answer: C

View Text Solution

301. The most common lanthanoid is :

A. Sm

B. Pm

C. Ce

D. Ho

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PcGxbFFipfOR
https://dl.doubtnut.com/l/_0mEF88zo3wbb
https://dl.doubtnut.com/l/_AVIw33fvb3fM


302. Why the -block elements are called inner transition

elements?

A. transition elements

B. inert elements

C. representative elements

D. innertransition elements

Answer: D

Watch Video Solution

f

303. All lanthanide mineral contains all elements except

A. Er

https://dl.doubtnut.com/l/_AVIw33fvb3fM
https://dl.doubtnut.com/l/_7K5RJFDZh1ab


B. Eu

C. Pm

D. Tb

Answer: C

View Text Solution

304. Among the lanthanides the one obtained by synthetic

method is

A. Lu

B. Pm

C. Pr

https://dl.doubtnut.com/l/_7K5RJFDZh1ab
https://dl.doubtnut.com/l/_BfCbkaGarpLV


D. No

Answer: B

Watch Video Solution

305. Transuranium elements are the elements of actinide

series, which follows ?

A. Curium

B. Plutonium

C. Neptunium

D. Uranium

Answer: D

https://dl.doubtnut.com/l/_BfCbkaGarpLV
https://dl.doubtnut.com/l/_r6M1c0Qz01z2


Watch Video Solution

306. Naturatl rasioctive elements of actinide series are

A. up to thorium

B. up to uranium

C. up a curium

D. up to protactium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_r6M1c0Qz01z2
https://dl.doubtnut.com/l/_8b13xt9CrYbu


307. How many transuranium elements present in 5f series

?

A. 10

B. 11

C. 12

D. 13

Answer: B

Watch Video Solution

308. Synthetic radioactive elements present in actinides

are

https://dl.doubtnut.com/l/_z0aSCETij1SN
https://dl.doubtnut.com/l/_iBCixIIzodcU


A. 9

B. 10

C. 11

D. 12

Answer: C

Watch Video Solution

309. Naturally occuring radio active elements present in

second inner transition series

A. 3

B. 4

https://dl.doubtnut.com/l/_iBCixIIzodcU
https://dl.doubtnut.com/l/_9eZATK7p9kfd


C. 5

D. 6

Answer: A

Watch Video Solution

310. Which of the following is transuranium element ?

A. U

B. Ta

C. Pa

D. Am

Answer: D

https://dl.doubtnut.com/l/_9eZATK7p9kfd
https://dl.doubtnut.com/l/_dooGrVcHfJnl


View Text Solution

311. Lanthanide elements are called as rare earth because

A. their oxides are difficult to decompose

B. the elements are rarely found in the earth crust

C. they were few in nature

D. they element were very light

Answer: B

Watch Video Solution

312. The transuranic elements are prepared by

https://dl.doubtnut.com/l/_dooGrVcHfJnl
https://dl.doubtnut.com/l/_rRZgsJL76vsC
https://dl.doubtnut.com/l/_HXXQjN12szHr


A. addition reaction

B. decomposition reaction

C. decarboxy lation

D. nuclear reaction

Answer: D

Watch Video Solution

313. Which element is not naturally occuring ?

A. Th

B. U

C. Ac

https://dl.doubtnut.com/l/_HXXQjN12szHr
https://dl.doubtnut.com/l/_nnQmstTWGlEQ


D. Am

Answer: D

View Text Solution

314. Which of the following, is prepared artificially?

A. Ce

B. Pm

C. Pr

D. Am

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nnQmstTWGlEQ
https://dl.doubtnut.com/l/_pm3blAnI61Lv


315. The lanthanide have general electronic configuration

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Xe]4f 1 − 14, 5s2, 5p6, 6s2

[Xe](n − 1)d1 − 10, ns1 − 2

[Xe]4f 1 − 14, 5d0 − 1, 6s2

[Xe]4f 0 − 14, 5d0 − 10, 6s2

316. The outer electronic coonfiguration of cerium is

A. 6s2, 4f 1, 5d1

https://dl.doubtnut.com/l/_pm3blAnI61Lv
https://dl.doubtnut.com/l/_5V2UV658RcIB
https://dl.doubtnut.com/l/_aGPYZcL3t1wY


B. 

C. 

D. 

Answer: B

Watch Video Solution

6s2, 4f 2, 5d0

6s2, 4f 7, 5d1

6s2, 4f 13, 5d0

317. Match list I and II and select the correct answer using

the code given below the list. 

A. 

List-I List-II

At.no. of elements Names of the elements

A. 60 1. Neodymium

B.61 2. Samarium

C. 62 3. Europium

D.63 4.Promethium

A B C D

1 2 3 4

https://dl.doubtnut.com/l/_aGPYZcL3t1wY
https://dl.doubtnut.com/l/_Clz8yHB41sWk


B. 

C. 

D. 

Answer: C

Watch Video Solution

A B C D

1 3 2 4

A B C D

1 4 2 3

A B C D

4 3 2 1

318. Which of the following elements shows 

electronic configuration ?

A. Eu

B. Gd

C. Tb

6s2, 4f 75d1

https://dl.doubtnut.com/l/_Clz8yHB41sWk
https://dl.doubtnut.com/l/_srWPO0uY3Ofu


D. Dy

Answer: B

Watch Video Solution

319. Lutetium has electronic configuration

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6s2, 4f 13, 5d1

6s2, 4f 12, 6d0

6s2, 4f 14, 5d1

6s2, 4f 7, 5d0

https://dl.doubtnut.com/l/_srWPO0uY3Ofu
https://dl.doubtnut.com/l/_EZVkIpYVV9gm


320. Gadolinium contain one electron in 5d-orbital due to

A. stability of  configuration

B. stability of  configuration

C. stability of  configuration

D. none of these

Answer: B

Watch Video Solution

4f 0

4f 7

4f 14

321. In which of the following elements one electron is

present in 5d orbitals ?

https://dl.doubtnut.com/l/_EZVkIpYVV9gm
https://dl.doubtnut.com/l/_JSNoFGkr3hpo
https://dl.doubtnut.com/l/_xkZs10mx3Z02


A. Gd and Yb

B. Gd and Tm

C. Gd and Lu

D. Ho and Lu

Answer: C

Watch Video Solution

322. Which of the following is expected electronic

configuration of europium ?

A. 

B. 

6s2, 4f 7, 5d0

6s2, 4f 65d1

https://dl.doubtnut.com/l/_xkZs10mx3Z02
https://dl.doubtnut.com/l/_Of2ttrEqB3wi


C. 

D. 

Answer: B

Watch Video Solution

6s2, 4f 14, 5d0

6s2, 4f 13, 5d1

323. The expected electronic configuration of cerium is

A. 

B. 

C. 

D. none of these

Answer: C

[Xe]6s2, 4f 2, 6d0

[Xe]6s2, 4f 6, 5d2

[Xe]6s2, 4f 1, 5d1

https://dl.doubtnut.com/l/_Of2ttrEqB3wi
https://dl.doubtnut.com/l/_2wicH5j52Hgt


Watch Video Solution

324. How many unpaired electrons present in 4f-orbital of

lutetium ?

A. 1

B. 2

C. 0

D. 4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_2wicH5j52Hgt
https://dl.doubtnut.com/l/_2rWeGYvT1Gqw


325. As atomic number increases from 57 to 71 in

tripositive lanthanon, the number of unpaired electrons

A. increases regularly from 0 to 14

B. first increases from 0 to 7 and then fall to zero

C. increases from 0 to 5 and then fall to zero

D. increase from 0 to 6 and then fall all zero

Answer: B

Watch Video Solution

326. The electronic configuration of gaedolinium.

A. [Xe]4f 8, 5d9, 6s2

https://dl.doubtnut.com/l/_uxREtaB6Uck7
https://dl.doubtnut.com/l/_heV0dk1xmrYc


B. 

C. 

D. 

Answer: B

Watch Video Solution

[Xe]4f 2, 4d1, 6s2

[Xe]4f 6, 5d2, 6s2

[Xe]4f 3, 5d5, 6s2

327. Which of the following has  configuration

A. Pr

B. Gd

C. Nd

D. Am

4f 7

https://dl.doubtnut.com/l/_heV0dk1xmrYc
https://dl.doubtnut.com/l/_z8eYERcaAeZq


Answer: B

Watch Video Solution

328. How many total number of unparied electrons in Gd

are

A. 7 unparied electrons

B. 8 unpaired electrons

C. 6 unpaired electrons

D. 5 unpaired electrons

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_z8eYERcaAeZq
https://dl.doubtnut.com/l/_BQIQcdIb4ofY


329. The electronic configuration of actinides Cannot be

assigned with degree of certainty because of

A. overlapping of inner orbirtals

B. small energy difference between 5f and 6d orbitals

C. free movement of electrons over all the orbitals

D. all of these

Answer: B

Watch Video Solution

330. The outer electronic configuratio of actinide elements

is

https://dl.doubtnut.com/l/_azvBgfQWH1wt
https://dl.doubtnut.com/l/_0F8l1GI7XqqD


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

7s2. 5t0 − 14, 6d0

7s2, 5f 1 − 14, 6d0 − 1

7s2, 5f 1 − 14, 6d − 10

7s2, 5f 1 − 14, 6d10

331. Which one of the following is an electronic

configuration of thorium?

A. 

B. 

[Rn]7s2, 5f 0, 6d2

[Rn]7s2, 5f 1, 6d1

https://dl.doubtnut.com/l/_0F8l1GI7XqqD
https://dl.doubtnut.com/l/_qXBqGzc4CKS6


C. 

D. 

Answer: A

Watch Video Solution

[Rn]7s1, 5f 3, 6d1

[Rn]7s1, 5f 4, 6d0

332. Americium does not contain 6d electrons due to

A. stability of  configuration

B. stability of  configuration

C. stability of  configuration

D. radioactive nature

Answer: B

f 0

f 7

f 14

https://dl.doubtnut.com/l/_qXBqGzc4CKS6
https://dl.doubtnut.com/l/_IQnD8YIMqWR7


Watch Video Solution

333. Thr outer electronic configuration of lawrencium is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7s2, 5f 14, 6d1

4s2, 5f 13, 6d2

7s2, 5f 14, 7p2

7s2, 5f 14, 7p1

https://dl.doubtnut.com/l/_IQnD8YIMqWR7
https://dl.doubtnut.com/l/_446QKVRNfTtX


334. Match list I and II and select the correct answer using

the codes given below the lists 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

List-I List-II

At. no. of elements Names of the elements 

A.96 1. Berkelium

B.97 2. Curium

C. 98 3. Californium

D.99 4. Einsteinium

A B C D

1 2 1 1

A B C D

4 3 2 3

A B C D

4 3 1 3

A B C D

2 1 3 4

https://dl.doubtnut.com/l/_jdurea0nK1EY
https://dl.doubtnut.com/l/_UMWRqveDcQZS


335. Which of the following element involves th gradual

filling of 5f level ?

A. Pm

B. Cm

C. Sm

D. Tm

Answer: B

View Text Solution

336. The electronic configuration of  is

A. 

Am2 +

7s0, 5f 6, 6d0

https://dl.doubtnut.com/l/_UMWRqveDcQZS
https://dl.doubtnut.com/l/_xYjH5VAz6OJe


B. 

C. 

D. 

Answer: C

Watch Video Solution

7s0, 5f 5, 6d0

7s0, 5f 7, 6d0

7s0, 5f 4, 6s0

337. The penultimate shell of f-block elements contains

how many electrons ?

A. 19 to 32

B. 8 to 9

C. 8 to 14

https://dl.doubtnut.com/l/_xYjH5VAz6OJe
https://dl.doubtnut.com/l/_2OEhjSfD9jHA


D. 19 to 36

Answer: B

View Text Solution

338. Holonium closely resembles with Einstenium having

observe electronic configuration

A. 

B. 

C. 

D. 

Answer: A

s2, f 11, d0

s2, f 7, d1

s2, f 9, d0

s2, f 14, d0

https://dl.doubtnut.com/l/_2OEhjSfD9jHA
https://dl.doubtnut.com/l/_NKs8SuIRchNX


Watch Video Solution

339. The outer expected electronic configuration

 is of the element

A. Ac

B. Am

C. No

D. Tb

Answer: D

Watch Video Solution

5f 5, 6d1, 7s2

https://dl.doubtnut.com/l/_NKs8SuIRchNX
https://dl.doubtnut.com/l/_pZtZeR4NJsug


340.  represents electronic condiguration of

A. Gd

B. Sm

C. Eu

D. Tb

Answer: C

Watch Video Solution

4f 7, 5d0, 6s2

341. Ytterbium has electronic configuration

A. 4f 75d06s2

https://dl.doubtnut.com/l/_kwYTEDpyVkDx
https://dl.doubtnut.com/l/_1lbUhOoVmZij


B. 

C. 

D. 

Answer: B

Watch Video Solution

4f 145d06s2

4f 145s16s2

4f 75d16s2

342. An element t belonging to lanthanide has at. No. 64,

its electronic configuration is

A. 

B. 

C. 

4f 75s06s2

4f 85d06s2

4f 75d16s2

https://dl.doubtnut.com/l/_1lbUhOoVmZij
https://dl.doubtnut.com/l/_juWcmNW1OBWh


D. 

Answer: C

Watch Video Solution

4f 65d26s2

343. Which of the following lanthanoide shows stable

electronic configuration ?

A. Only Eu and Gd

B. Only Eu, Gd and Yb

C. Only Eu, Gd, and Yb

D. Only Gd, Yb and Lu

Answer: C

https://dl.doubtnut.com/l/_juWcmNW1OBWh
https://dl.doubtnut.com/l/_YYxInlGr7NvG


Watch Video Solution

344. Which of the following elements has half filled f-

orbitals ?

A. only Eu

B. only Eu and Yb

C. Only Gd

D. only Eu and Gd

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_YYxInlGr7NvG
https://dl.doubtnut.com/l/_NUeP1ORTyx5M


345. Which of the following has fully filled f-orbitals ?

A. Only Eu and Yb

B. Only Gd and Eu

C. Only Gd and Lu

D. Only Yb and Lu

Answer: D

Watch Video Solution

346. The electronic configuration  represents

A. actinium

4f 05d16s2

https://dl.doubtnut.com/l/_lr53upqbmPLF
https://dl.doubtnut.com/l/_SgpTstxGVDoB


B. lanthanum

C. cerium

D. praseodymium

Answer: B

Watch Video Solution

347. Which of the following has  configuration ?

A. curium

B. americium

C. nobelium

D. lawrencium

5f 76d07s2

https://dl.doubtnut.com/l/_SgpTstxGVDoB
https://dl.doubtnut.com/l/_1ycTjvTKbJHo


Answer: B

Watch Video Solution

348. The actinoide with atomic number 96 has electronci

configuration

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Xe]5f 76d17s2

[Rn]5f 76d17s2

[Rn]4f 75d16s2

[Xe]5f 76d17s2

https://dl.doubtnut.com/l/_1ycTjvTKbJHo
https://dl.doubtnut.com/l/_ZJc5UmdWJYQr


349. The actinides which has half filled 5f-orbitals are

A. only Am

B. only Cm

C. both Am and No

D. Both Am and Cm

Answer: D

Watch Video Solution

350.  represents electronci configuration of

A. thorium

5f 36d17s2

https://dl.doubtnut.com/l/_hgN1mKCv2wGy
https://dl.doubtnut.com/l/_l2198LXlgnEA


B. uranium

C. neptunium

D. protactinium

Answer: B

Watch Video Solution

351.  represents configuration of which of the

following

A. Lu

B. Eu

C. Yb

4f 145d06s2

https://dl.doubtnut.com/l/_l2198LXlgnEA
https://dl.doubtnut.com/l/_k16BpooyP2m7


D. Gd

Answer: C

Watch Video Solution

352. Which one of the following is an electronic

configuration of thorium?

A. 

B. 

C. 

D. 

Answer: A

5f 16d17s2

5f 26d07s2

5f 26d17s2

5f 06d27s0

https://dl.doubtnut.com/l/_k16BpooyP2m7
https://dl.doubtnut.com/l/_ZMCRWeWme3OS


Watch Video Solution

353. Which of the following f-block elements has half filled

electrocin configuration having at. No. ?

A. 95,96,102 and 103

B. 70,71, 102 and 103

C. 63,64,95 and 96

D. 63,64,70 and 71

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ZMCRWeWme3OS
https://dl.doubtnut.com/l/_qQIQ7Fj1vyA6


354. The f-block element having at n. 95 has electronic

configuration

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Xe]5f 76d07s2

[Rn]5f 66d14s2

[Rn]5f 76d07s2

[Xe]4f 25d06s2

355. The number of partially filled shell in f-block elements

are

https://dl.doubtnut.com/l/_Z4GDwk3MiCmC
https://dl.doubtnut.com/l/_EyRURPZWA2xo


A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

356. The expected general, electronic configuration of

lanthanons is

A. 

B. 

6s2, 40 − 14, 5d1

6s2, 4f 1 − 14, 5d1

https://dl.doubtnut.com/l/_EyRURPZWA2xo
https://dl.doubtnut.com/l/_NnyXj2tgKBkh


C. 

D. 

Answer: B

View Text Solution

6s2, 4f 0 − 14, 5d0 − 1

6s2, 4f 1 − 14, 5d0 − 1

357. The most accepted abserved electronic configuration

of lanthanide is

A. 

B. 

C. 

D. 

6s2, 4f 0 − 14, 5d1

6s2, 4f 1 − 14, 5d0 − 1

6s2, 4f 2 − 14, 5d0 − 1

6s2, 4f 2 − 14, 5d1

https://dl.doubtnut.com/l/_NnyXj2tgKBkh
https://dl.doubtnut.com/l/_1b9XmOCAaKhx


Answer: B

View Text Solution

358. An element has electronci configuration

 In which group it is placed

A. second

B. third

C. fourth

D. fifth

Answer: B

View Text Solution

(Xe)6s24f 13, 5d0.

https://dl.doubtnut.com/l/_1b9XmOCAaKhx
https://dl.doubtnut.com/l/_7n4d3Cy6HhuG


359. The number of unpaired electrons present in Am are

A. 2

B. 3

C. 4

D. 7

Answer: B

View Text Solution

360. The most accepted electronic configuration of f-block

element is

https://dl.doubtnut.com/l/_xUDeBn8JxsS6
https://dl.doubtnut.com/l/_nFKWS4LuXe4b


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(n − 2)s2, p6, d10, f(0 − 14), (n − 1)s2, p6d0 − 1, ns0 − 2

(n − 2)s2, p6, d10, f 1 − 14, (n − 1)s2, p6d0 − 1, ns2

(n − 2)s2, p6, d10, f 0 − 14, (n − 1)s2, p6d1, ns0 − 1

(n − 2)s2, p6, d10, f 0 − 14, (n − 1)s2, p6d1, ns2

361.  contain

A. 1 to 6 4-f unpaired electrons

B. 1 to 5 4-f unpaired electrons

ln3 +

https://dl.doubtnut.com/l/_nFKWS4LuXe4b
https://dl.doubtnut.com/l/_DhyzeFirY3zY


C. 1 to 7 4-f unpaired electrons

D. all of these

Answer: D

View Text Solution

362. All lanthanides exhibit a stable valency of

A. 2

B. 3

C. 4

D. 6

Answer: B

https://dl.doubtnut.com/l/_DhyzeFirY3zY
https://dl.doubtnut.com/l/_oX8eTnUJP5b1


View Text Solution

363. Which of the following forms stable +4 oxidation

state ?

A. La

B. Gd

C. Eu

D. Ce

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_oX8eTnUJP5b1
https://dl.doubtnut.com/l/_aKMH18qKorsX


364. Which of the followig show maximum number of

different oxidation state in its compounds ?

A. Eu

B. Gd

C. La

D. Nd

Answer: D

View Text Solution

365. The number of unpaired electrons in  ion is 0

A. 0

Ce3 +

https://dl.doubtnut.com/l/_PEaXJYbUplGT
https://dl.doubtnut.com/l/_taY2D8YPG5jH


B. 1

C. 2

D. 3

Answer: B

View Text Solution

366. The most characteristic oxidation state of lanthanide

is

A. 

B. 

C. 

+2

+3

+4

https://dl.doubtnut.com/l/_taY2D8YPG5jH
https://dl.doubtnut.com/l/_iVLvjaXHL0Cu


D. 

Answer: B

View Text Solution

+6

367. Lanthanidwes shows variable oxidation state, because

they release electron from the following orbitals

A. 4f

B. 6s

C. 5d

D. all of these

Answer: D

https://dl.doubtnut.com/l/_iVLvjaXHL0Cu
https://dl.doubtnut.com/l/_VndiI8MykWex


View Text Solution

368. In aqueous solutions  acts as

A. an oxidising agent

B. an reducing agent

C. either of these

D. redox agent

Answer: B

Watch Video Solution

Eu2 +

369.  acts asSm3 +

https://dl.doubtnut.com/l/_VndiI8MykWex
https://dl.doubtnut.com/l/_ekROQlcWuR8U
https://dl.doubtnut.com/l/_WSITtKhya8Xc


A. an oxidising agent

B. an reducing agent

C. either

D. neither

Answer: B

View Text Solution

370. Atomic number  which of

the following does not have unpaired electron ?

A. 

B. 

64Gd, 66Dy, 69Tm, 71Lu.

Gd3 +

Dy3 +

https://dl.doubtnut.com/l/_WSITtKhya8Xc
https://dl.doubtnut.com/l/_uY7iioZ2SUZR


C. 

D. 

Answer: D

View Text Solution

Tm3 +

Lu3 +

371. Which of the following element show +2 oxidation

state in  configuration ?

A. Pm

B. Tb

C. Eu

D. Ho

4f 7

https://dl.doubtnut.com/l/_uY7iioZ2SUZR
https://dl.doubtnut.com/l/_YpTxTnwgMNNQ


Answer: C

View Text Solution

372. Stable oxidation state of Yb is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

+2

+3

+4

+6

https://dl.doubtnut.com/l/_YpTxTnwgMNNQ
https://dl.doubtnut.com/l/_1ncc7TVzJyDJ
https://dl.doubtnut.com/l/_boUS3VcE2BFF


373.  ion is

A. oxidising agent

B. reducing agent

C. redox agent

D. one of the above

Answer: A

View Text Solution

Ce4 +

374. Cerium shows  oxidation state, in which of the

following configuration ?

A. 

+4

f 0

https://dl.doubtnut.com/l/_boUS3VcE2BFF
https://dl.doubtnut.com/l/_L1DSzMonZnam


B. 

C. 

D. 

Answer: A

View Text Solution

f 6

f 7

f 14

375.  is

A. `reducing agent

B. oxidising agent

C. redox agent

D. one of the above

Y b2 +

https://dl.doubtnut.com/l/_L1DSzMonZnam
https://dl.doubtnut.com/l/_qFsPYQmnojZP


Answer: A

View Text Solution

376. Ytterbium show  oxidation state, in which of the

following configuration ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

+2

f 0

f 7

f 14

f 8

https://dl.doubtnut.com/l/_qFsPYQmnojZP
https://dl.doubtnut.com/l/_b0aDdX7rezyY


377.  ion is isoelectronic with

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Eu3 +

Ce4 +

Y b2 +

Eu4 +

Sm2 +

378. How many f-electrons are present in Tb when it show

 oxidation state ?

A. 6

+3

https://dl.doubtnut.com/l/_v7bqXwyZBR7w
https://dl.doubtnut.com/l/_xgBDPUqml5QH


B. 7

C. 8

D. 9

Answer: C

View Text Solution

379. The number of unpaired electrons in  are

A. 0

B. 2

C. 6

D. 7

Lu3 +

https://dl.doubtnut.com/l/_xgBDPUqml5QH
https://dl.doubtnut.com/l/_lzNw8reaHf2e


Answer: A

View Text Solution

380. In first inner-transition series, the highest oxidation

state oxhibited by

A. Pm

B. Eu

C. Sm

D. Nd

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_lzNw8reaHf2e
https://dl.doubtnut.com/l/_K0E3fBOKDWuo


381. Which of the following has highest paired 4f electrons

?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Y b3 +

Pr3 +

Pm3 +

Sm3 +

382. Which of the follow2ing show the oxidation state of

 ?+4

https://dl.doubtnut.com/l/_vUhBEC0kekxD
https://dl.doubtnut.com/l/_uL8B1DO1rdga


A. Pm

B. Eu

C. Sm

D. Tb

Answer: D

View Text Solution

383. Neodymium show  oxidation

state of  oxidation state. The most oxidising state

known is aqueous solution is

A. 

B. 

+2, + 3, and + 4

+4

+2

+3

https://dl.doubtnut.com/l/_uL8B1DO1rdga
https://dl.doubtnut.com/l/_cspKG531hf5O


C. 

D. none of these

Answer: B

View Text Solution

+4

384. Which of the following has all of its electrons paired ?

A. 

B. 

C. 

D. none of these

Answer: D

Pr3 +

Ce3 +

Tb4 +

https://dl.doubtnut.com/l/_cspKG531hf5O
https://dl.doubtnut.com/l/_OfcVOp4sctTU


View Text Solution

385. Which of the following lanthanide elements from

tetrapositive ion in aqueous solution ?

A. Sm

B. Gd

C. Pm

D. Ce

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_OfcVOp4sctTU
https://dl.doubtnut.com/l/_0T4PFcclt6GH


386. Which one of the following is good oxidising agent ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Eu2 +

Sm2 +

Ce4 +

Y b2 +

387. Dipositive Pm is isoelectronic with

A. Nd3 +

https://dl.doubtnut.com/l/_P5IQClDi0PeG
https://dl.doubtnut.com/l/_GM762J68LJkN


B. 

C. 

D. 

Answer: D

View Text Solution

Ce4 +

Eu3 +

Sm3 +

388. Decreasing order of oxidising property of

tetrapositive lanthanide is

A. 

B. 

C. 

Dy4 + > De4 + > Pr4 + > Nd4 +

Dy4 +Nd4 + > Pr4 + > V e4 +

Ce4 + > Pr4 + > Nd4 + > Dy4 +

https://dl.doubtnut.com/l/_GM762J68LJkN
https://dl.doubtnut.com/l/_fDrONBVnQv9N


D. 

Answer: B

View Text Solution

Nd4 + > Pr4 + > Dy4 + > Ce4 +

389. Decresis order of reducing properties of 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ln3 +

Eu3 + + > Tb3 + > Dy3 + > Gd3 +

Eu3 + > Gd3 + > Tb3 + > Dy3 +

Eu3 + > Dy3 + > Gd3 + > Tb3 +

Dy3 + > Eu3 + > Tb3 + > Gd3 +

https://dl.doubtnut.com/l/_fDrONBVnQv9N
https://dl.doubtnut.com/l/_wd8gmEUhfVBZ


390. All  ions are strong reducing agent in solid and

aqueous medium. Which is due to

A. high I.P.

B. high lattice energy

C. high hydration energy and high negative vlue of

reduction potential

D. all of these

Answer: D

View Text Solution

ln3 +

https://dl.doubtnut.com/l/_wd8gmEUhfVBZ
https://dl.doubtnut.com/l/_au4FkcJz4cHL


391. High negative value of raduction potential, indicates

lanthanides are

A. oxidising agent

B. reducing agnet

C. high complex forming tendency

D. high magnetic property

Answer: B

View Text Solution

392. The electronic configuration of holmium is 

oxidation state

+3

https://dl.doubtnut.com/l/_ua3o9wC0GUwl
https://dl.doubtnut.com/l/_dWEGqPpM18ZK


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

6s0, 4f 11, 5d0

6s0, 4f 14, 5d0

6s0, 4f 10, 5d0

6s0, 4f 12, 5d0

393. Which of the following elements shown  O. S. in 

configuration ?

A. Eu and Gd

B. Eu and Tb

+2 f 7

https://dl.doubtnut.com/l/_dWEGqPpM18ZK
https://dl.doubtnut.com/l/_o3MhuobUvbuQ


C. Eu and Yb

D. Eu and Lu

Answer: A

View Text Solution

394. The oxidation state of Lu in  configuration is

A. 

B. 

C. 

D. 

Answer: B

4f 14

+2

+3

+4

+6

https://dl.doubtnut.com/l/_o3MhuobUvbuQ
https://dl.doubtnut.com/l/_D0c4QWPjf3jg


View Text Solution

395.  is isoelectronic with

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

La3 +

Tb3 +

Eu3 +

Ce4 +

Sm3 +

https://dl.doubtnut.com/l/_D0c4QWPjf3jg
https://dl.doubtnut.com/l/_qWb6ajJMDzmB


396. Which of the following ion posses six unpaired

electrons ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Eu3 + , Ce3 + , Gd3 +

Eu3 + , Tb3 + , Sm2 +

Tb3 + , Nd3 + , Sm2 +

Sm2 + , Er3 + , Eu2 +

397. The common oxidation state of actinides is

A. +4

https://dl.doubtnut.com/l/_EdDS8IfF4qD9
https://dl.doubtnut.com/l/_vfncw9qCCqE3


B. 

C. 

D. 

Answer: C

View Text Solution

+5

+3

+7

398.  oxidation state is most inportant for

A. Pa

B. Np

C. Cm

D. Th

+4

https://dl.doubtnut.com/l/_vfncw9qCCqE3
https://dl.doubtnut.com/l/_etcIEvSm7I1g


Answer: D

View Text Solution

399. Stable oxidation state of No is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

+2

+3

+4

+7

https://dl.doubtnut.com/l/_etcIEvSm7I1g
https://dl.doubtnut.com/l/_rBNGfiIW0GxS
https://dl.doubtnut.com/l/_73x8AmiGVCxv


400. The main reason for larger number of oxidation state

exhibited by the actinides than the corresponding

lanthanides, is

A. more energy ifference between 5f and 6d orbitals

than 4f and 5d orbitals

B. less energy difference between 5t and 6d orbitals

than 4f and 5d orbitals

C. larger atomic size of actinides

D. more reactive nature of actinides than lanthanides

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_73x8AmiGVCxv
https://dl.doubtnut.com/l/_DeRCipAy1QuB


401. Most stable oxidation state of Pa is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

+2

+3

+5

+7

402. Which of the following statement is incorrect

regarding lanthanides and actinides?

https://dl.doubtnut.com/l/_DeRCipAy1QuB
https://dl.doubtnut.com/l/_mnz1Mjb19MP5


A. Oxidation state +3 is most common in both the

series

B. In both series f-orbitals are progressively filled

C. The elements of there series are radioactive

D. Both series show contraction effect

Answer: C

View Text Solution

403. In the 5f series highest oxidation state is exhibited by

A. U and Np

B. Np and Pu

https://dl.doubtnut.com/l/_mnz1Mjb19MP5
https://dl.doubtnut.com/l/_Agx9WEFJXaho


C. Pu and Am

D. Cm and Fm

Answer: B

View Text Solution

404. The correct order of oxidising property of  ion is

A. 

B. 

C. 

D. 

Answer: B

ln4 +

Dy > Tb > Nd > Pr > Ce

Dy > Nd > Pr > Tb > Ce

Dy > Nd > Tb > Ce > Pr

Nd > Dy > Tb > Pr > Ce

https://dl.doubtnut.com/l/_Agx9WEFJXaho
https://dl.doubtnut.com/l/_zKsaWMAy3g9N


View Text Solution

405. The unstable oxidation of Sm is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

+4 and + 3

+4

+3

+2

406. Stable oxidation state of Berkelium is

https://dl.doubtnut.com/l/_zKsaWMAy3g9N
https://dl.doubtnut.com/l/_RjhFYnT7vlKC
https://dl.doubtnut.com/l/_EtdN2StqCfwk


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

+3

+4

+2

+6

407. The outer elecftronic configuration of plutonium in

 oxidatino state is

A. 

B. 

+6

7s0, 5f 5, 6d0

7s0, 5f 1, 6d0

https://dl.doubtnut.com/l/_EtdN2StqCfwk
https://dl.doubtnut.com/l/_8mQBT9dUElZg


C. 

D. 

Answer: C

View Text Solution

7s0, 5f 2, 6d0

7s0, 5f 4, 6d0

408.  is isoelectronic with

A. 

B. 

C. 

D. 

Answer: D

Cf 3 +

Md4 +

Am4 +

Pu7 +

Es4 +

https://dl.doubtnut.com/l/_8mQBT9dUElZg
https://dl.doubtnut.com/l/_GDJ50pOyWDge


View Text Solution

409. Oxidation state of uranium in  is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

UO2 +
2

+4

+5

+6

+7

410. The most stable oxidation state of thorium is

https://dl.doubtnut.com/l/_GDJ50pOyWDge
https://dl.doubtnut.com/l/_hbr8z9T31UxL
https://dl.doubtnut.com/l/_NjrbzwfPpjPH


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

+3

+4

+5

+6

411. Electronic configuration of 

A. 

B. 

C. 

Pu7 +

7s0, 5f 14, 6d0

7s0, 5f 3, 6d0

7s0, 5f 0, 6d0

https://dl.doubtnut.com/l/_NjrbzwfPpjPH
https://dl.doubtnut.com/l/_xNMT5fcTgvNr


D. 

Answer: B

View Text Solution

7s0, 5f 1, 6d0

412.  is

A. oxidising agent

B. reducing agnet

C. coloured ion

D. all of these

Answer: C

View Text Solution

Np7 +

https://dl.doubtnut.com/l/_xNMT5fcTgvNr
https://dl.doubtnut.com/l/_l7iPXlCsBvU8


413. Which of the following ion is easily reduced

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Ce3 +

Ce4 +

Nd2 +

Y b2 +

414. Which of the following ion is easily oxidised

A. Sm2 +

https://dl.doubtnut.com/l/_l7iPXlCsBvU8
https://dl.doubtnut.com/l/_LzpzUtSJDo8m
https://dl.doubtnut.com/l/_aXLWc5z5BqiE


B. 

C. 

D. 

Answer: A

View Text Solution

Ce4 +

Nd4 +

Ce3 +

415. The pricipal oxidation state of lanthanide is

A. 

B. 

C. 

D. 

+2

+3

+4

+5

https://dl.doubtnut.com/l/_aXLWc5z5BqiE
https://dl.doubtnut.com/l/_0XW3gUPqFCVS


Answer: B

View Text Solution

416. Samarium shows the oxidation state

A. 

B. 

C. 

D. only 

Answer: C

View Text Solution

+3 and + 4

+2, + 3 and + 4

+2, and + 3

+3

https://dl.doubtnut.com/l/_0XW3gUPqFCVS
https://dl.doubtnut.com/l/_oPA1iccFQEY3
https://dl.doubtnut.com/l/_w9srsUzdMytx


417. Lanthanide do not show oxidation state

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

+3

+4

+6

+2

418. The lanthanum exhibits which of the following

oxidation state ?

A. only +2

https://dl.doubtnut.com/l/_w9srsUzdMytx
https://dl.doubtnut.com/l/_edAmKwS84jHW


B. 

C. only 

D. only 

Answer: D

View Text Solution

+2 and + 3

+3

+3 and + 4

419. Lanthanides are able to show oxidation states

A. only 

B. only 

C. only 

D. both 

+3

+4

+2 and + 3

+2, + 3 and + 4

https://dl.doubtnut.com/l/_edAmKwS84jHW
https://dl.doubtnut.com/l/_nTCGZ75nWR3B


Answer: D

View Text Solution

420.  represents which one of the following

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

4f 0, 5d06s0

Ce3 +

Ac3 +

La3 +

Ce+ 2

https://dl.doubtnut.com/l/_nTCGZ75nWR3B
https://dl.doubtnut.com/l/_touzhCcgXM96
https://dl.doubtnut.com/l/_MA5Xcbeswh8d


421.  ions has electronic configuration

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Gd + 3

4f 0, 5d0, 6s0

f 7, 5d1, 6s0

4f 7, 5d0, 6s0

f 7, 6d0, 7s0

422.  represents which of the followig ?

A. 

B. 

4f 145d06s0

Y b3 +

Lu3 +

https://dl.doubtnut.com/l/_MA5Xcbeswh8d
https://dl.doubtnut.com/l/_zoeFvAO9mquy


C. 

D. 

Answer: B

View Text Solution

Nb3 +

Lr3 +

423. Which of the following  ions have stable

configuration ?

A.  only

B.  only

C.  only

D.  only

M 2 +

Eu2 +

Eu2 + and Y b2 +

Y b2 +

Y b2 + and Sm2 +

https://dl.doubtnut.com/l/_zoeFvAO9mquy
https://dl.doubtnut.com/l/_jgJTCxyyUfYN


Answer: B

View Text Solution

424. Which lanthanoid deiposite ions has strong tendency

of donation electron ?

A. 

B. 

C. 

D. none of these

Answer: A

View Text Solution

Sm2 +

Eu2 +

Y b2 +

https://dl.doubtnut.com/l/_jgJTCxyyUfYN
https://dl.doubtnut.com/l/_AZZwBFgkiqXL


425. The most basic hydroxide is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Lu(OH)3

Ce(OH)3

La(OH)3

Y b(OH)3

426. Which of the  ion has more tendency to gain

single electron ?

A. 

M 4 +

Ce4 +

https://dl.doubtnut.com/l/_lQkGXW53AOFn
https://dl.doubtnut.com/l/_qb5GA2XKNzS5


B. 

C. 

D. 

Answer: B

View Text Solution

Dy4 +

Pr4 +

Nd4 +

427. The lanthanoide which shows all i.e.,

 oxidation state is

A. europium

B. samarium

C. neodymium

+2, + 3 and + 4

https://dl.doubtnut.com/l/_qb5GA2XKNzS5
https://dl.doubtnut.com/l/_VWenxBvs61Cj


D. gadolinium

Answer: C

View Text Solution

428. The lanthanoide ion used as oxidizing agent is

A. 

B. 

C. 

D. none of these

Answer: D

View Text Solution

Eu3 +

Y b3 + and Ce3 +

Eu3 + and Tb3 +

https://dl.doubtnut.com/l/_VWenxBvs61Cj
https://dl.doubtnut.com/l/_BxrJzKFZ4niu


429.  has electronic configuration 

Because of this it hs strong tendency to

A. loose electrons

B. undergo oxidation

C. gain electron

D. high hydration

Answer: C

View Text Solution

Tb+ 4 4f 75d06s0.

430. What is the correct order of basicity of hydroxide ?

https://dl.doubtnut.com/l/_BxrJzKFZ4niu
https://dl.doubtnut.com/l/_tNHSoX4EDBHA
https://dl.doubtnut.com/l/_G0avU1zH33vn


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

La(OH)3 < Nd(OH)9 < Tb(OH)3 < Lu(OH)3

La(OH)3 < Lu(OH)3 < Nd(OH)3 < Tb(OH)3

La(OH)3 > Lu(OH)3 > Nd(OH)3 > (OH)3

La(OH)3f > Nd(OH)3 > Tb(OH)3 > Lu(OH)3

431.  ion has strong tendency to

A. gain electron

B. lose electron

C. undergo reduction

Eu2 +

https://dl.doubtnut.com/l/_G0avU1zH33vn
https://dl.doubtnut.com/l/_kKXt0qXORqIN


D. none of these

Answer: B

View Text Solution

432. The lanthanoide ion with e.c.  has

tendecny to

A. under goes reduction

B. gain electron

C. lose electron

D. all of these

Answer: C

4f 145d06s0

https://dl.doubtnut.com/l/_kKXt0qXORqIN
https://dl.doubtnut.com/l/_cI8bW1BUKsuI


View Text Solution

433. Actinides exhibits oxidation state

A. 

B. 

C. 

D.  to 

Answer: D

View Text Solution

+3 and + 4

+4 and 5

+5 and + 6

+2 +7

https://dl.doubtnut.com/l/_cI8bW1BUKsuI
https://dl.doubtnut.com/l/_t98G7eTbRXDI


434.  is the electronic configuration of

lanthanoide ion

A. only 

B. only 

C. only 

D. only 

Answer: C

View Text Solution

4f 25d06s0

Eu2 +

Gd3 + and Eu2 +

Eu2 + , Gd3 + and Tb4 +

Eu2 + and Tb2 +

435. Which of the following  is not a stable oxidation

state ?

M 2 +

https://dl.doubtnut.com/l/_uBZlw3ZgIpem
https://dl.doubtnut.com/l/_r7FslbFsM0x5


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Gd3 +

La3 +

Lu3 +

Eu3 +

436. The  ion has electronic configuration

A. 

B.  respectively

C. 

Y b2 + and Lu3 +

4f 145d16s0

4f 145d06s0 and 4f 145d16s0

4f 145d06s0

https://dl.doubtnut.com/l/_r7FslbFsM0x5
https://dl.doubtnut.com/l/_HvAFCWWdS058


D. 

Answer: C

View Text Solution

4f 145d16s2

437. Which of the following  cations does not have

stable electronic configuration ?

A. 

B. 

C. 

D. Both a and b

Answer: B

M 4 +

Ce4 +

Nd4 +

Tb4 +

https://dl.doubtnut.com/l/_HvAFCWWdS058
https://dl.doubtnut.com/l/_crHery2EeSx9


View Text Solution

438. The ions having  stable electronic

configuration are

A. 

B. 

C. only 

D. only 

Answer: A

View Text Solution

4f 0, 5d06s0

La3 + and Ce4 +

La3 + and Ce3 +

Ce4 +

La3 +

https://dl.doubtnut.com/l/_crHery2EeSx9
https://dl.doubtnut.com/l/_3XalDuXV0CFa


439. Lanthanides does not show  O. S. in which of the

following configuration

A. 

B. 

C. 

D. all of these

Answer: C

View Text Solution

+4

f 0

f 7

f 14

440. Erbium shows was oxidations state

A. only +4

https://dl.doubtnut.com/l/_Z3rxOvxkgEJK
https://dl.doubtnut.com/l/_gO3sgE9A82p0


B. 

C. only 

D. 

Answer: C

View Text Solution

+3, + 4

+3

+2, + 3

441. Cerium shows most common oxidation state

A. 

B. 

C. 

D. 

+2, + 4

+3, + 4

+2, + 3

+4, + 5

https://dl.doubtnut.com/l/_gO3sgE9A82p0
https://dl.doubtnut.com/l/_6uP4B39xRGss


Answer: B

View Text Solution

442. Which of the following tripositive ion has half filled 4

f subshell ?

A. Gd

B. Am

C. Pr

D. Yb

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_6uP4B39xRGss
https://dl.doubtnut.com/l/_6OoehhaKmNle


443.  is used as oxidising agent because

A. it has tendency to attain  O.S.

B. it has tendency to attain  O.S.

C. it has tendency to attain  O.S.

D. it does not gain electron

Answer: B

View Text Solution

Ce4 +

+2,

+3,

+5,

444.  oxidation state is stable in which of the

following respectively

A. 

+2 and + 3

Eu, Lu

https://dl.doubtnut.com/l/_i5GaXzdPztQK
https://dl.doubtnut.com/l/_Jf76mfDc75fy


B. 

C. 

D. 

Answer: A

View Text Solution

Ce, Lu

Eu, Nd

Ce, Eu

445. In aqueous solution, cerium shows stable O.S.

A. 

B. 

C. 

D. 

+2

+4

+3

+5

https://dl.doubtnut.com/l/_Jf76mfDc75fy
https://dl.doubtnut.com/l/_RuwKRZzuNBl9


Answer: B

View Text Solution

446. In aqueous solution, Eu shows stable O.S.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

+3

+4

+3

+5

https://dl.doubtnut.com/l/_RuwKRZzuNBl9
https://dl.doubtnut.com/l/_jZqxuJY8g8GT
https://dl.doubtnut.com/l/_0uDuaFraVYd7


447.  ions one used as

A. oxidising agent

B. reducing agent

C. either

D. neither

Answer: B

View Text Solution

ln2 +

448.  ions are used as

A. oxidising agent

B. reducing agent

ln4 +

https://dl.doubtnut.com/l/_0uDuaFraVYd7
https://dl.doubtnut.com/l/_99U1HDigEpxV


C. either

D. neither

Answer: A

View Text Solution

449.  ions are

A. reducing agent

B. oxidising agent

C. either

D. neither

Answer: A

ln3 +

https://dl.doubtnut.com/l/_99U1HDigEpxV
https://dl.doubtnut.com/l/_f8UPGa37pHDV


View Text Solution

450.  is less basis than  This is due to

A. decrease in ionic character of M-OH bond

B. ionic size decrease due to lanthanide contraction

C. increase in covalent character of M-OH bond

D. all of these

Answer: D

View Text Solution

Lu(OH)3 La(OH)3.

https://dl.doubtnut.com/l/_f8UPGa37pHDV
https://dl.doubtnut.com/l/_HVXPn8SxATBE


451. Which of the following hydroxide is more ionic and

more basic in nature ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Ce(OH)3

Lu(OH)3

Dy(OH)3

Tm(OH)3

452. The +4 ion of which one of the following has half filled

4f subshell.

https://dl.doubtnut.com/l/_PwkfkB9X1TW2
https://dl.doubtnut.com/l/_7ZetvM7k5I0y


A. Gd

B. Tb

C. Tm

D. Sm

Answer: B

View Text Solution

453. The stable O.S. of uranium is

A. 

B. 

C. 

+3

+4

+5

https://dl.doubtnut.com/l/_7ZetvM7k5I0y
https://dl.doubtnut.com/l/_6sIK3q1dH9GT


D. 

Answer: D

View Text Solution

+6

454. Stable oxidation state of nobelium is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

+2

+3

+4

+5

https://dl.doubtnut.com/l/_6sIK3q1dH9GT
https://dl.doubtnut.com/l/_Q4C3WlTWahKU


455. tripositive actinides ions are

A. with three protons

B. with three neutrons

C. with three electrons

D. with three electrons less than its atomic number

Answer: D

View Text Solution

456.  has electronic configuration

A. 

LN 3 +

6s0, 4f 1to145d0

https://dl.doubtnut.com/l/_Q4C3WlTWahKU
https://dl.doubtnut.com/l/_TBgpEPGPTcYr
https://dl.doubtnut.com/l/_ECfaLPednDI3


B. 

C. 

D. 

Answer: A

View Text Solution

6s2, 4f 1to14, 5d0

6s0, 4f 1to14, 5d1

6s1, 4f 1to14, 5d1

457. Since, lanthanides relased electron from 4f, 5d and 6s

orbitals, they show

A. fixed oxidation state

B. variable oxidation state

C. two oxidation state

https://dl.doubtnut.com/l/_ECfaLPednDI3
https://dl.doubtnut.com/l/_TeIxRCZoKUjl


D. one oxidation state

Answer: B

View Text Solution

458. Which element show the maximum difference in the

oxidation state of its compounds ?

A. La

B. Sm

C. Gd

D. Am

Answer: D

https://dl.doubtnut.com/l/_TeIxRCZoKUjl
https://dl.doubtnut.com/l/_CH5QAqT8uKPE


View Text Solution

459. The number of unpaired electrons in  is found

to be

A. zero

B. one

C. two

D. six

Answer: B

View Text Solution

Y b3 +

https://dl.doubtnut.com/l/_CH5QAqT8uKPE
https://dl.doubtnut.com/l/_QHG2GUvz1wYM


460. In lantanide the nuclear charge

A. increases form Ce to Lu

B. decreases from Ce to Lu

C. remain same

D. increases up to C to Gd and then decreases

Answer: A

View Text Solution

461. The shield effect of electron decreases in the order

A. f > d > p > s

https://dl.doubtnut.com/l/_EF1Tw8gf5aeS
https://dl.doubtnut.com/l/_WtMKn7sHxFpF


B. 

C. 

D. 

Answer: B

View Text Solution

s > p > d > f

s > d > p > f

p > d > s > f

462. The lanthanide contraction is due to

A. perfect shielding of f-orbitals

B. perfect shielding of d-orbitals

C. imperfect shielding of f-orbitals

D. imperfect shielding of d-orbitals

https://dl.doubtnut.com/l/_WtMKn7sHxFpF
https://dl.doubtnut.com/l/_6SQvN9XgBvwB


Answer: C

View Text Solution

463. As atomic number increases, the ionic radii of 

ion

A. increases

B. first increases and then decreases

C. decreases

D. first decreases and then increases

Answer: C

View Text Solution

ln3 +

https://dl.doubtnut.com/l/_6SQvN9XgBvwB
https://dl.doubtnut.com/l/_f7pZg3eCs4Y4


464. The decrease in the size of innce transition element is

q

A. more

B. less

C. not regular

D. none of these

Answer: B

View Text Solution

465. Lanthanide contraction is related to

A. valence electron

https://dl.doubtnut.com/l/_y22HtbkIRDy3
https://dl.doubtnut.com/l/_zBFbmrq6sF8Z


B. ionic radii

C. densities

D. nuclear mass of various membere of the series

Answer: B

View Text Solution

466. From Ce to Lu atomic size decreases

A. 18 Pm

B. 

C. 

D. 

8Pm

12Pm

10Pm

https://dl.doubtnut.com/l/_zBFbmrq6sF8Z
https://dl.doubtnut.com/l/_xhZO3PpxnXMT


Answer: D

View Text Solution

467. Which of the following ion has smallest radii ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Y b3 +

Ce3 +

Pm3 +

Sm3 +

https://dl.doubtnut.com/l/_xhZO3PpxnXMT
https://dl.doubtnut.com/l/_L9sbGrj2QIAs
https://dl.doubtnut.com/l/_tswnSGwBEkI4


468. Lanthanide contraction is due to increase in

A. iionic radii

B. shielding of 4f electrons

C. effective nuclear charge

D. size of 4f orbitals

Answer: C

View Text Solution

469. The correct order of ionic radius of

 is

A. 

Y b3 + , La3 + , Eu3 + , Lu3 +

Y b < Lu < Eu < La

https://dl.doubtnut.com/l/_tswnSGwBEkI4
https://dl.doubtnut.com/l/_6uzulME4Bvf2


B. 

C. 

D. 

Answer: A

View Text Solution

La < Eu < Lu < Y b

Lu < Eu < La < Y b

Y b < La < Eu < Lu

470. Because of lanthanoide contraction, which of the

following pairs of elements have nearly same atomic radii

? 

(Numbers in the parenthesis are atomic numbers )

A. Ti (22) and Zr (40)

B. Zr (40) and Nb (41)

https://dl.doubtnut.com/l/_6uzulME4Bvf2
https://dl.doubtnut.com/l/_qBuK7OxDjWwF


C. Zr (40) and Hf (72)

D. Zr (40) and Ta (73)

Answer: C

View Text Solution

471. A raduction of atomic size with increase in atomic

number is a characteristic of elements of

A. radioactive series

B. high atomic mass

C. f-block

D. all of these

https://dl.doubtnut.com/l/_qBuK7OxDjWwF
https://dl.doubtnut.com/l/_w0K4cSZoIGmi


Answer: C

View Text Solution

472. As increase in both atomic and ionic radii with atomic

number occurs in any group of the periodic table and in

accordance with this, the ionic radii of 

ion are 68 Pm and 74 Pm respectivelt. But for  ion,

the ionci radius is 75 Pm. Which is most same as that for

 ion. This is due to

A. greater degree of covalency in compound of 

B. lanthanide contraction

Ti4 + and Zr4 +

Hf 4 +

Zr4 +

Hf 4 +

https://dl.doubtnut.com/l/_w0K4cSZoIGmi
https://dl.doubtnut.com/l/_gzUdJTzhDhZm


C. difference in co-ordination number of

 in their compound

D. actinide contraction

Answer: B

View Text Solution

Zr4 + and Hf 4 +

473. The lanthanide contraction is responsible for the fact

that

A. Zr and Yb have same size

B. Zr and Nb have same oxidation sate

C. Zr and Hf have same radius

https://dl.doubtnut.com/l/_gzUdJTzhDhZm
https://dl.doubtnut.com/l/_eJztu2NALr6L


D. Zr and Zn have same oxidation state

Answer: C

View Text Solution

474. Tantalum and nobonium have sinmilar ionic radii

because

A. of diagonal relationship

B. both are in same group

C. the have same chemical properties

D. of lanthanide contraction

Answer: D

https://dl.doubtnut.com/l/_eJztu2NALr6L
https://dl.doubtnut.com/l/_9c3Y4OM5ZxvA


View Text Solution

475. The properties of  transition series elements and 

 transition series elements are same because of

A. both belong to d-block

B. both belong to same group of the periodic table

C. both have same number of electrons

D. both have same radii

Answer: D

View Text Solution

3rd

2nd

https://dl.doubtnut.com/l/_9c3Y4OM5ZxvA
https://dl.doubtnut.com/l/_KV2KOD8GE9ya


476. The properties of tungsten and molybdenum are

sinmilar because

A. both belong to d-block

B. both belong to same group of the periodic table

C. both have same number of electrons

D. both have same radii

Answer: D

View Text Solution

477. Which of the following pair of atoms have similar

A. Hf and Os

https://dl.doubtnut.com/l/_k7YZIvCJToIT
https://dl.doubtnut.com/l/_HNnpAdtITEHM


B. W and Mo

C. Hf and Nb

D. Ta and Mo

Answer: B

View Text Solution

478. Which of the following is more basic hydroxide ?

A. 

B. 

C. 

D. 

Sm(OH)3

Y b(OH)3

Ho(OH)3

HoOH _ (3)

https://dl.doubtnut.com/l/_HNnpAdtITEHM
https://dl.doubtnut.com/l/_45g5KVM6X7jk


Answer: A

View Text Solution

479. Which of the following is more ionic hydroxide ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Eu(OH)3

Pr(OH)3

Tm(OH)3

Ho(OH)3

https://dl.doubtnut.com/l/_45g5KVM6X7jk
https://dl.doubtnut.com/l/_eCIWH2eaeWfu
https://dl.doubtnut.com/l/_WTm4kRjR7xeA


480. Which of the following  ion is strongest raducing

agent ?

A. Sm

B. Tb

C. Pm

D. Lu

Answer: C

View Text Solution

ln3 +

481. Which of the following is chemical twins ?

A. Zr and Ta

https://dl.doubtnut.com/l/_WTm4kRjR7xeA
https://dl.doubtnut.com/l/_gxbKIXtIkHgj


B. Nb and W

C. Ta and Nb

D. Tc and Os

Answer: C

View Text Solution

482. Lanthanide contraction due to

A. poor shielding of 5f orbitals

B. poor shielding of 3f orbitals

C. prerfect shielding of 4f orbitals

D. poor shielding of 4f orbitals

https://dl.doubtnut.com/l/_gxbKIXtIkHgj
https://dl.doubtnut.com/l/_JoBY56htx04G


Answer: D

View Text Solution

483. Which of the following hydroxide has more covalent

character ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Gd(OH)3

Pm(OH)3

Dy(OH)3

Nd(OH)3

https://dl.doubtnut.com/l/_JoBY56htx04G
https://dl.doubtnut.com/l/_MvCAs3cZUJgU


484. Decreasing order of ionic character of  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ln(OH03

Sm(OH)3 > Lu(OH)3 > Gd(OH)3 > Tb(OH)3

Tb(OH)2 > Gd(OH)3 > Lu(OH)3 > Sm(OH)3

Lu(OH)3 > Sm(OH)3 > Gd(OH)3 > Tb(OH)3

Tb(OH)3 > SM(OH)3 > Gd(OH)3 > Tb(OH)3

485. Which of the following f-block element are not able to

oxocations ?

A. cerium and samarium

https://dl.doubtnut.com/l/_4ismflnZQI1z
https://dl.doubtnut.com/l/_skNdL2aOJwEP


B. uranium and thorium

C. neptunim and protactium

D. nobelium and fermium

Answer: A

View Text Solution

486. Actinide from

A. ionic compounds

B. covalent compounds

C. co-ordinate compounds

D. chalates

https://dl.doubtnut.com/l/_skNdL2aOJwEP
https://dl.doubtnut.com/l/_KGKFLumJwEnK


Answer: B

View Text Solution

487. Among the following strongest base is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

La(OH)3

Ce(OH)3

Lu(OH)3

Y b(OH)3

https://dl.doubtnut.com/l/_KGKFLumJwEnK
https://dl.doubtnut.com/l/_94fBsUn9Cydu
https://dl.doubtnut.com/l/_AFXmJp4DF9fD


488. The correct order of ionic radii of the ion is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

La3 + < Eu3 + < Lu3 + < Y b3 +

Y b3 + < La3 + < Eu3 + < Lu3 +

Lu3 + < Eu3 + < Y b3 + < La3 +

Lu3 + < Y b3 + < Eu3 + < La3 +

489. With increase in atomic number, the atomic size or

inonic size go on decreasing in case of

A. d-block elements

https://dl.doubtnut.com/l/_AFXmJp4DF9fD
https://dl.doubtnut.com/l/_1s8JVVCOs3Kl


B. s-block elements

C. f-block elements

D. p-block elements

Answer: C

View Text Solution

490. Basic nature of compounds of

A. lanthanide  actinide

B. lanthanide actinide

C. lathanide = actinide

D. none is correct

>

<

https://dl.doubtnut.com/l/_1s8JVVCOs3Kl
https://dl.doubtnut.com/l/_qHzurUwbDaJp


Answer: B

View Text Solution

491. Which element among the lanthanide has smallest

atomic size ?

A. Ce

B. Lu

C. Eu

D. Gd

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_qHzurUwbDaJp
https://dl.doubtnut.com/l/_vkSXLxwZWpJb


492. Lanthanide contraction is due to increase in

A. shielding of 4f electrons

B. effective nuclear charge

C. atomic number

D. size of 4f orbital

Answer: B

View Text Solution

493. The correct order of ionic radii of

 is

A. 

Y 3 + , La3 + , Eu3 + and Lu3 +

Y 3 + < Lu3 + < Eu3 + < La3 +

https://dl.doubtnut.com/l/_BoZlkBycEZ63
https://dl.doubtnut.com/l/_zcxpcwwmkNR1


B. 

C. 

D. 

Answer: A

View Text Solution

La3 + < Eu3 + < Lu3 + < Y 3 +

Lu3 + , < Eu3 + < La3 + < Y 3 +

Y 3 + < La3 + < Lu3 + < Eu3 +

494. Lanthanides are

A. 14 elements in the  period filling 4f orbitals

B. 14 elements in the  period filling 5t orbitals

C. 14 element in the  period filling 5t orbitals

7th

5th

5th

https://dl.doubtnut.com/l/_zcxpcwwmkNR1
https://dl.doubtnut.com/l/_GwUbgtZyqgr0


D. 14 elements in the  period that are filling 4f

orbitals

Answer: B

View Text Solution

4th

495. Chemical twins are preent in which of the transition

series

A. 

B. 

C. 

D. none of these

2nd and 3rd

1st and 2nd

3rd and 4th

https://dl.doubtnut.com/l/_GwUbgtZyqgr0
https://dl.doubtnut.com/l/_ekCaLhnZZvsC


Answer: A

View Text Solution

496. The steady decrease in atomic size in lanthanide

series is called lanthanide confraction and in all amounts

to

A. 150 Pm

B. 

C. 

D. 

Answer: B

View Text Solution

10Pm

20Pm

40Pm

https://dl.doubtnut.com/l/_ekCaLhnZZvsC
https://dl.doubtnut.com/l/_8MLrg7xFeihr


View Text Solution

497. Lanthanoide contraction affects on

A. basicity of lanthanoide hydroxides

B. atomic and ions radii of post lanthanoide

C. similarty in properties of  row transition

elements

D. all of these

Answer: D

View Text Solution

2nd and 3rd

https://dl.doubtnut.com/l/_8MLrg7xFeihr
https://dl.doubtnut.com/l/_zQEbGwMZUF5j


498. Which of the following pair of elements are called

chemical twins ?

A. Zr and Hf

B. No and Ta

C. Mo and W

D. all of these

Answer: D

View Text Solution

499. From  to  which of the following

is wrong statement ?

La(OH)3 LuOH _ (3)

https://dl.doubtnut.com/l/_MgC96HR2kO82
https://dl.doubtnut.com/l/_XTmhd1ZM1gKS


A. Ionic character decreases

B. Covalent character increases q

C. Ionic radius of  ion increases

D. Basic character decreases

Answer: C

View Text Solution

M 3 +

500. What is the correct order of ionic size of lanthanoide

ions ?

A. 

B. 

Lu3 + > Tb3 + > Sm3 + > La3 +

Lu3 + < Tb3 +Sm3 + < La3 +

https://dl.doubtnut.com/l/_XTmhd1ZM1gKS
https://dl.doubtnut.com/l/_aAGbE7jNmZmE


C. 

D. 

Answer: B

View Text Solution

Lu3 + < Sm3 + < Tb3 + < La3 +

Sm3 + < Lu3 + < Tb3 + < La3 +

501. The pair of elements which are not having similarly in

atomic and ionic radii are

A. Zr and Hf

B. Mo and Ta

C. Nb and Ta

D. Mo and W

https://dl.doubtnut.com/l/_aAGbE7jNmZmE
https://dl.doubtnut.com/l/_1ofRdzvjCyXx


Answer: B

View Text Solution

502. The pair of elements like Zr - Hf, Nb - Ta and Mo -W.

Due to lanthanoide contraction

A. having similarly in atomic and ionic size

B. these are called chemical twins

C. these elements have similar properties

D. all of these

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_1ofRdzvjCyXx
https://dl.doubtnut.com/l/_Ui3XvRzyvxOv


503. The pair of lanthanoide ions used as raducing agents

is/are

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Eu3 + and Ce4 +

Ce4 + and Tb4 +

Eu2 + and Dy4 +

Nd2 + and Sm2 +

504. Actinides form oxocation because of

A. actinide contraction

https://dl.doubtnut.com/l/_Z1eAK6OV4q9y
https://dl.doubtnut.com/l/_JFdk9yxeyHAl


B. radioactive nature

C. reducing property q

D. high charge density in higher oxidation state

Answer: D

View Text Solution

505. The least basic hydroxide is

A. 

B. 

C. 

D. 

La(OH)3

Ce(OH)3

Lu(OH)3

Pm(OH)3

https://dl.doubtnut.com/l/_JFdk9yxeyHAl
https://dl.doubtnut.com/l/_OisOKUD0vGG6


Answer: C

View Text Solution

506. Which of the following lanthanodie ion used as

oxidizing agent ?

A. only 

B. only 

C. only 

D. only 

Answer: C

View Text Solution

Tb3 +

Ce2 +

Ce4 + and Tb4 +

Tb2 + and Dy3 +

https://dl.doubtnut.com/l/_OisOKUD0vGG6
https://dl.doubtnut.com/l/_vAKpW8959zMH


507. In lanthanoides the increase in at. No. 14 results in

decrease of atomic radii by only 10 pm. Because of

A. gradual decrease in nuclear charge

B. gradual decrease in nuclear charge

C. 4f-orbirtals provids less shielding effect

D. 4f-orbitals provides more shielding effect

Answer: C

View Text Solution

508. The steady decrease in ionic size in lanthanides due

ot lanthanide contraction and in all amount to

https://dl.doubtnut.com/l/_ItRWQ2AN04CV
https://dl.doubtnut.com/l/_OHyfDNSBxXnV


A.  pm

B.  pm

C.  pm

D.  pm

Answer: C

View Text Solution

10

40

18

50

509. Which of the following is correct about actinides ?

A. They form stable oxidation state +2

B. They do not form oxocation

C. They shows only +2 oxidation state

https://dl.doubtnut.com/l/_OHyfDNSBxXnV
https://dl.doubtnut.com/l/_1MlUOnK3Eb61


D. Stability of +3 oxidation state increase as atomic

number increases.

Answer: D

View Text Solution

510. Which of the following has poor shielding effect ?

A. s

B. P

C. 4 f

D. 5 f

Answer: D

https://dl.doubtnut.com/l/_1MlUOnK3Eb61
https://dl.doubtnut.com/l/_viRhWUzwERPy


View Text Solution

511. Most of the ions of lanthanide and actinide series have

unpaired electrons in  orbitals and hence they

are

A. diamagnetic

B. paramagnetic

C. ferromagnetic

D. none of these

Answer: B

View Text Solution

(n − 2f)

https://dl.doubtnut.com/l/_viRhWUzwERPy
https://dl.doubtnut.com/l/_E6ydhwjf7PIk
https://dl.doubtnut.com/l/_5ZVwmOTsOEs1


512. Basic characters of  ion is

A. increases with ionic size increases

B. decreases with ionic size decreases

C. increases with nuclear charge increases

D. increases with atomic number increases

Answer: B

View Text Solution

ln3 +

513. Which of the following oxocation is not possible

A. 

B. 

PuO+
2

CeO+
2

https://dl.doubtnut.com/l/_5ZVwmOTsOEs1
https://dl.doubtnut.com/l/_TJE8j3LmSeAr


C. 

D. 

Answer: B

View Text Solution

UO2 +
2

NpO2 +
2

514. Basicity of the lanthanides depends upon

A. gain of electrons

B. loss of electrons

C. sharing of electrons

D. coupling of electrons

Answer: B

https://dl.doubtnut.com/l/_TJE8j3LmSeAr
https://dl.doubtnut.com/l/_ctaSSX6XD0gW


View Text Solution

515. Which of the following has lowest basicity ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Ce(OH)3

Bk(OH)3

Md(OH)3

No(OH)3

https://dl.doubtnut.com/l/_ctaSSX6XD0gW
https://dl.doubtnut.com/l/_wAHT9gJepSRB

